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Name of the Trade - Electrician 1st sem - NSQF - Module 1 - Safety practice and Hand tools

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Level Topic of Week No of
syllabus the Syllabus
1|What is the name of the safety sign? Warning sign Mandatory sign Prohibition sign Information sign |38 G&T eg &I ATH AT £2 g [deg 3MaTH [Reg YYF Keg HIATHS o D 1 Safety sign 1-3
2|What is smothering in extinguishing of fire? Adding the fuel Removing the fuel | Using of waterto |Isolating the fire from |3113+T T /&=t &7 &2 Rt ESC 3117 T S 39T | STl T 3YTT Feh | HAT9T ol ATFdTSled | D 1 Fire extinguisher 1-3
element to the fire |element from the fire lower the the supply of oxygen EEiC AT AT9HTe héH hiel @r}rrq’ﬁﬁm
temperature HEAT
3|Which is the physical hazard? Smoking Vibration Corrosive Radio active a1 3 O Al gifey a7 872 TS FFT &RT I3 afraar B 2 Hazards 1-3
4|{Which is the correct sequence of operation | Pull, Aim, Squeeze, | Pull, Aim, Sweep, Push, Arrange, Push, Arrange,  |T@eT & & 3113eT AW Y 3T el T TSI v FAT 82| Wi, HARAAT Graet, =T | erchelel, saafad | eehelel, saaiead | A 2 Fire extinguisher 1-3
to be performed when using the fire Sweep Squeeze Squeeze, Sweep Sweep, Sequence STITTeAT, SelTedT, Sf3TTeAT, AT, T, SeTel, YHTAT| T, FHTHAT,
extinguisher? AT CEIG HoJhH
5|Which step of the 5s-concept refers Step - 1 Step - 2 Step - 3 Step - 4 55-Tehedell # fele=l A & el AT T Step - 1 Step - 2 Step - 3 Step - 4 D 1 Standardization 1-3
“Standardization”? “Standardization” ¥ 33 ST 82
6|Which plier is used for making wire hooks Flat nose plier Long nose plier Round nose plier | Diagonal cutting plier [Flef & TolTIR &1 3901 dRX & § F AR A T A Gl | Folc ol ol | AlleeT oAlel TR | 33 oAl SR | STI9NeTel shiedl C 2 Hand tools 1-3
and loops? g7 TIRR
7|What is the use of pincer? Twisting the flexible Cutting small Extracting the pin Holding small AR 7 1 39T 82 FAFATA AR AN | DI AT H AR | ehgl H T a7 | S aeq uhsall, | C 2 Hand tools 1-3
wires diameter of wires | nails from the wood | objects, where finger Tiaee HLT FIcAT el forerer=r STel dAugd
cannot reach Tk
8|What is the name of road safety sign? Mandatory sign Cautionary sign Informatory sign Prohibition sign U Hseh &t Teg T FATAH &2 3aTS eg T g HHeATcHh e v e A 1 Safety sign 1-3
;
3
9|What is the back ground colour of warning Blue White Yellow Green 7 Ao A TddS e o T2 HIIT T 3T FAT &IcAT 872 e EEGl 9relT & C 1 Safety sign 1-3
signs in the basic category?
10|Which type of fire extinguisher is used for Halon type Foam type Gas cartridge type | Stored pressure type |faGgd 3Ta<0T H ofal HT3eT & PieT AT HTTeTRMHE gelled JhR 19T JehIX T FRGATHR | GIRd Ga@ IR | A 2 Fire extinguisher 1-3
fire on electrical equipment? SITaT T ST §7
11{Which is the waste disposal method that Recycling Composting Incineration Waste compaction |3mafRrse et i sl & &, ST 91T Jer clr 872 FCEER T STelT HEHTRIOT 3RS gEeeT C 2 Disposal of 1-3
produces heat? waste
12|Which Personal Protective Equipment Apron Goggles Ear mask Nose mask U § GI&T & [T [ cATadaTd GI&T 3THI0T (Tdg) Tt TRAT FI had AT dhad D 2 PPE 1-3

(PPE) is used for the protection from
fumes?

Bl T ST £
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13|What is the full form of BIS? Board of Indian Bureau of Indian Board of Bureau of BIS T qUI &9 & Board of Indian Bureau of Indian Board of Bureau of Standardization 1-3
Standard Standard International International Standard Standard International International
Standard Standard Standard Standard
14|Which method is used to lift and move Winches Crane and slings | Layers and Rollers Machine moving  |3TRY 3R 301 31X TATATTRA e o [oIT [ohd TG fel AT e et 3R e X AR e A ATl Lifting method 1-3
heavy loads? platforms 39T fohaT SITaT £ TACHE
15|What is starving in extinguishing of fire? Adding fuel to the fire | Using water to cool Removing fuel Preventing oxygen |31TeT 371 3 TTTdeT T 572 Rt ESC 3117 T U 39T | STl T 3UTET ek | 3T3T T Tl Fire 1-3
the fire element from the fire | supply to the fire EEiC AT ATIATT A HAT | 6T 3T & 3rerT
hIAT
16|What is the name of PPE? Nose mask Head shield Face shield Hand screen NS 7 A7 FATR? T had IR & had e FT had BT ThieT PPE 1-3
Q |
§
17|Which disposal method of waste save lot of Land fill Recycling Incineration Composting HITRISE fiqeTet TaTer diet AT &, I 9g a ARY Sl STy | Sl H e T<IshUl TEHRIOT @IE, STelell Disposal of 1-3
energy? g7 waste
18|Which artificial respiration method is to be Schafer's method Mouth to mouth Mouth to nose  [Nelson’s arm-lift back |fehe JehR s T3e adiet fafer s g21er 37 qfscd & AR fafer Hg 4 Hg A AT A AT AT | FodsT T T FH First aid 1-3
performed to the victim with injuries on the method method pressure method  |forw &t &, orgehT oIl 3R e H die g7 CIEY-CICACIN]
chest and belly?
19|Which type of occupational health hazard is |  Electrical hazard Biological hazard | Physiological hazard | Psychological hazard [for& 9 & caTa@T e FaTEed Wk & HROT THAVT | [AegdId JaHdr Sifaeh aHare RIRF TRT AT JHaT Hazards 1-3
cause for infection? 8 hdT 87
20|What is the use of this tool? Holding the hot Cutting and twisting | Extracting nails from Loosening and |38 3SR ot &FaT 3UAN9T &2 IH USTAT Y ThSAT| IRT i ST iR EEEREIC] e AR A Fr Hand tools 1-3
substances the wires the wood tightening the bolts Higar [GEICG &relr ataT 3R
and nuts AT
(o
‘-. s
21|How will you diagnose the victim is Gets pain in spinal | Mouth will be closed | Heavy swelling on | Appears blue colour |Eer & gR & RIS cafad & 39 F TgaTeiar? Jehgssi Ace d | Ag QU R da &l | Jc A 310 Forel | §Iol & °RI 3R First aid 1-3
suffering under cardiac arrest? guard tightly his stomach around his lips SR Arer a1
22|What is the name of the tool? Wire stripper Crimping tool Combination pliers |Diagonal cutting pliers|3a 3SR & 4T =11H &2 IR g ToRTEeT ¢ HIETAAA CATIX | BTN HieaT Hand tools 1-3
RZSIREY
23|What is the name of the safety sign? Warning sign Mandatory sign Prohibition sign Information sign |38 G&T e &I A1H T 52 TG [deg 3MaTH [Keg e Keg HIATHS [dog Safety sign 1-3
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24|What will be first-aid to be given to stop the | Applying ointment Keep the injured | Covering the wound | Applying pressure |[dif3d & I&d & 81T I Achel & [G1T FAT TTATHR HOTgH TN | Tic o9 GUSIIT T | TIC ofdl g UHTIT T | TIT ofdl § LT <X First aid 1-3

bleeding of the victim? portion upward portion by dressing over the injured  |RIfFcaT ITcTstr HUS ST §2 FU IGeAT ST LT SSTd STelAT
portion

25|What immediate action should be taken to  [Pull or push him from Inform your Call someone for | Break the contact by |dfScl &t srIel 8 T AlcehlToleh e 3T TIRT, gt EgrT Wi I IO Ty | Tl a1 39 Sgierd | TSt ol 3relal First aid 1-3
rescue the victim, if he is still in contact with | the contact by hand | authority about this | helping to remove | switching OFF the |Ifg ag 37T #ff fieg d ufed &ia & 6 # 2 JFRT ¢ faegasich & aR | FI G 8 JATT | ek Afered 3MYfel
the electrical power supply? electric shock him from contact power supply H STy & I &G G,

26|What is the name of the cautionary sign? School Guarded Unguarded Pedestrian crossing |38 Tdeh Toeg ol =11 &7 §7 ﬁa"ﬂm wiaa KRG YeoT hrraaT Safety sign 1-3

/A g

27|Which is the golden hour for the victim First 15 minutes First 30 minutes First 45 minutes First 60 minutes  [afe TS &1 AT & =e ol § 3R @g & T@T &l, o First 15 minutes | First 30 minutes | First45 minutes | First 60 minutes First aid 1-3
injured on head with risk of dying? 3% fore Tafols ger Hia arg?

28|Which condition of the victim is referred as  |Unconscious but can Conscious but  |Breathing but cannot | Lie totally senseless [dif3d & sl T FEAT T SI#AT gl ST &7 SERI A R GAA | ERIAIFATR | A ofell R ol | T e HAgaAg il Hand tools 1-3
COMA stage? respond to calls cannot respond to respond to calls and do not respond TR 3cR &l Tg’FIT#W 3cdl e I 3 o BT oI & U

calls to calls ol oI I Sec o
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Name of the Trade - Electrician 1 st sem - NSQF - Module 2 - Basic Workshop Practice (Allied trade)

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans Level [Topic of syllabus | Week No of
the Syllabus
1|What is the use of this gauge? Check the internal | Check the diameter | Check the height Setthejobon 5@ 3tof ol 4T 3T &2 SiTd T TR (3o | SeIeATehR Sl &l A Se R Fag AR [SaH AMA A A S | A 2 Gauges 4-7
radius of the job of cylindrical job and parallelism of |machines parallel to Y ST SITdeT HATAAT SITded HHATeAX TG
job datum
!
Rasp cut file Single cut file Double cut file Curved cutfile |38 XY o1 /a7 AT 82 TET e v Tehol ohe Xl Gl e XT FhIHR e IdT A 1 Fitting tools 4-7
H
H
Divider Inside caliper Odd leg caliper Outside caliper |38 3ISTR &l &7 ATH £2 fZasst ITARSF FeliR TV ST ol e FolIR B 1 Marking tools 4-7
H
4|What is the cause for twisting defect in Defective storage | Uneven shrinkage | Improper seasoning Irregularity in IhaT A CIATECIT &Y T FIT HRUT 2 aI9q U1 HUSROT AT st eI TISATIT TETHT A grg A B 2 Carpenter 4-7
timber? growth of branches sifaafEaar
5|What is the use of mortise chisel? General chiseling | Making rectangular |Paring and finishing | Light chiseling  [ATcTS<T St T T 39T g2 T A AT ST H MIATRR BC | ofhs! I SIolell Td | oTehs] & Goohl Dallehi0T | B 2 Carpenter - 4-7
work in wood holes in wood joints in wood cleaning sharp TelTehoT AT HAT TRferer &ar TUT AT TheART T AT Timber
corners and in wood
6|Which type of stake is used for sharp Square stake Hatchet stake Blow horn stake | Bevel edge square |2fIc #cel & ool AIST 8 Tohd TR HT FINFR Teh T w&F ol glel T¢h 99 TS JINHR Th B 2 Sheet metal 4-7
bends in sheet metal? stake T&H 3YIT fohaT SATAT B2 worker
7|Which type of cold chisel is used for Web chisel Cross cut chisel Half round chisel Diamond point | TRd TR T S2T Ball ol ST kel ]I STl et I e il 378 GedTPR Bl ERT dige Sl D 2 Chisels 4-7
squaring materials at the corners? chisel R erdf & FAER FT g T AT
&2
8|Which type of caliper is used to draw Inside caliper Jenny caliper Outside caliper | Spring joint caliper [fF&l JehR & el T FINT TeTd F AR Feld STeiT ShellaX e FHelaX T NS el B 2 Marking tools 4-7
parallel lines along the outer edges of the Y AR I FHATR @0 s 7
materials? glarg?
9|What is the name of the drill bit? Flat drill bit Taper shank bit Countersink bit Straight shank bit |3 3o fore &1 &1 1 £7 Fole T3ef foe T Aeh e FI3AP 19T T & f9e B 1 Drills 4-7
i
H
10|What is the name of the stake used for Square stake Hatchet stake Blow horn square | Bevel edge square [2fic Acel & GTHT 393N 8 fhd TINHR T e 1H ol glaT Teh SacT Tl JINPR Teh A 1 Sheet metal 4-7
general purpose in sheet metal work? stake stake YR T Teh YT fohdT SATAT §72 worker
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11|{What is the number 1.25 indicates in ISO Diametric of the Pitch of the thread | Depth of the thread |Length of the thread [3TSTH3 Afgeh BTs= IS M12 X 1.25 S T A Uz & T DEETEIES Uz A oIFaTS Drills 4-7
metric fine thread M12 x 1.25? thread # 1.25 FeX & ST T §2
12|What defect will occur in timber due to Knot Cupping Cracking Twisting TRl H ATAATAT ®9 T ATEI31 Bl Higar el AT Carpenter - 4-7
irregularity in growth of the branches? 33T oh ST ShileT AT GIY 3o BIdT 52 Timber
13|Which file is used for sharpening the blunt Square file Round file Triangular file Half round file  [Ueh &oTsT 3T & g Glcll 1 oIof &l MR 3T EGIEREGH PregaTerr I 318 GedThRR T Fitting tools 4-7
teeth of a tenon saw? fore fore XY &1 39ieT fomam Sirar &2
14|Name the part marked ‘X’ of the file. Edge Heel Tang Shoulder "X" & ST YT o AT FI ATH TdS0- o HE & glesT Fitting tools 4-7
g
i
15[What is the name of the tool? Jenny caliper Inside caliper Outside caliper Firm joint caliper [2& 3SR T &/ T ATH §2 ECTETTEr ATARF FeldR SEY FollaX TH SN HelldX Marking tools 4-7
ggaP
H
H
16|What is the name of the angle marked ‘X’ Rake angle Point angle Clearance angle Inclination angle  [S=iT 3 "X" GaRT J&T2Td 10T T ATH I HIoT qIsc ShIoT TFeI™ HIoT S hId 10T Chisels 4-7
of the chisel? FATE?
i
a
17|What is the use of firmer chisel? Paring and finishing | General chiseling | Making rectangular | Light chiseling and [teR ST sl &7 392197 &2 EEREsEEED AT DeATehi0T R | 3T H AR DG | hs] H godhl Belleniol Carpenter - Tools 4-7
joints work holes in wood to clean sharp rfafAer & AT TAT AT FRART T THTS
corner
18|Which type of half lap joint is used if one End-lap input Cross-lap joint Middle-lap joint | Comner-half lap joint [f& e T 37€T ofT Sits AT fohart Ts-olg 3 FrH-oIT S5 ALY-T A5 FIAT-378 ol S5 Carpenter - 4-7
part of a job meets another part at some ST &, ST Sife T Teh 7797 FART o 31 Joints
distance from the ends? AFo QY & AT g?
19[{Which type of notch is used for making a ‘v’ notch Slant notch Square notch Straight notch |90 ° #13 31X 37eY | fehel g U AR & VA foRoT At FIFR AT e A Sheet metal 4-7
metal tray with 90° bend and an inside Y &1 ¢ STt & forw frg g & worker
flange? AT &7 YT FHT ST &2
20|What is the purpose of hem folding in Helps for forminga | Helps for bending Prevents burrs Prevents the sheet |2fic Aca 1 & &H Bl I FaT FINHR [3e9 l FaTe & | e Ao 1 WAl A FIea & 916 GLgY efie &t &7fa @ s Sheet metal 4-7
sheet metal work? square box sheet metal easily | forming after cutting from damage  [3R2T &? TETTH Az 7 TgrIHh TR §o1at A UehlT & worker
21[Which defect in the timber is caused to Twisting Cupping Cracking Irregularity TIhaT & il TT &IV SHPT ATFd I A T TThall sifaaf@dar Timber 4-7
reduce its strength? FIATE?
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22|wWhat is the name of the hammer? Claw hammer Ball pein hammer | Cross pein hammer Straight pein s gdls T FATAH 67 Foll gieT EICRIGEDIE] g UieT gdisT Tee O g2fisr Carpenter - Tools 4-7
hammer
g
23|Which defect in timber is caused due to Knot Twisting Cracking Cupping eI TISAT=I9T & HROT okl & hisT AT S A el YT Timber 4-7
improper seasoning? Y 3ceaT BIcT 87
24|What is the name of the formation of Hemp Full form thread  [Tapered male thread| Parallel female |ST&cl fic T NS H X' & T H EC ol BiA I35 RS AT U8 AR BIAA IS Sheet metal 4-7
thread marked as ‘X’ in the galvanized thread AfEAT I3 & &7 AT FAT§?
sheet pipe joint?
25|Which type of notch is used for bending V' notch Slant notch Square notch Straight notch |2 & TaRT &1 ASA & Tohd T T V At TR A FINMFR AT rer At Notches 4-7
the edge of the sheet? AT T AT fRT ST &2
26|What is the purpose of cross cut cold Cutting keyways Cutting curved Squaring materials | Removing metal [shE Thc 3T Beil T FAT 35T £7 HIa FIcat H TEhIhR ATTeIIT IcIT G Y BleAl T 21 3T Bcle § 91q Chisels 4-7
chisel? grooves at corners from large flat PR P F frepTeteT
surface
27|Which type of notch is used to make a job ‘V' notch Slant notch Square notch Straight notch 90° Arsat ga T YhIX T &A1 G397 V T R A ISR AT T A Notches 4-7
with 90° bend? grarg?
28|Which type of curve cutting hand saw is Compass saw Key hole saw Coping saw Fret saw THIN T AR hiedl & [o1T [ SHEITE 3R T gleT 3T ST 3T e 3RT Carpenter - Tools 4-7
used for internal cutting in wood? TR T Teh HTCIT ST ITRT T Hhr
ST
29|What is the name of the stake used for Square stake Hatchet stake Blow-horn stake | Bevel-edge square |2 RAca 1 & [T 39197 gl=t aTet TAHR TP e wes soll BleT Th SaT TSl IR Teoh Sheet metal - 4-7
sheet metal work? stake T T F AT ATH §2 Tools
% g
30|What is the name of tool? Claw hammer Tack hammer Cross pein hammer Straight pein 3SR 7 F1 A7 §2 Foll g2iisT g gater S dieT gdiar T 9 g2t Carpenter - Tools 4-7
hammer
i
31|Which type of chisel is used for separating Flat chisel Web chisel Cross cut chisel Diamond point |3+ 3feleT & aTg &1 371 1 31eaT et TqYET Sl TR el ST e Sell ERT 9IS Sell Chisels 4-7
metals after chain drilling? chisel 8 fore TR 1 Selt o1 ST fomam
ST 82
32|Which type of stake is used for riveting or Square stake Hatchet stake Blow horn stake  [Bevel edged square [f& YehR &I Teeh T 3TATIT 10T AT FIMFR Teh T es Soll glet Teh 9l TS JINHR Th Sheet metal 4-7
seaming tapered cone shaped articles? stake & 3R & i@l s Rafeer ar @fFeT
FA & foIT o ST &2
33|Which cause knot defect in timbers? Defective storage | Uneven shrinkage | Growth of branches [ Improper seasoning [clehaT & 31TS GIY ol 3T HROT &2 aI9q U1 HUSROT AT s M@ A g Il TroTTeaT Carpenter - 4-7
Timber
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Name of the Trade - Electrician 1st Sem - NSQF - Module 3 - Wires, Joints - Soldering - U.G. Cables

electric current

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Level Topic of Week No of
syllabus the Syllabus
1|What is the current carrying capacity of 32 13 Amp 16 Amp 26 Amp 39 Amp 32 UTFIIX 3¢S dhadl @I’ YRT dged &JHAT T 13 Amp 16 Amp 26 Amp 39 Amp C 2 Current 8-10
amp.rated cable, if it is protected by the gieft, IfE 58 goT: aR it 99T v & gIfara carrying
rewirable fuse? T ITT 812 capacity
2|What is the possible range to measure the 0-44 0-42 0-38 0-36 SWG & dR & TR AT Sl O T &2 0-44 0-42 0-38 0-36 D 1 Wire size 8-10
size of the wire in a Standard Wire Gauge measurement
(SWG)?
3|What is the name of the wire joint? Aerial tap joint Knotted tap joint Duplex cross tap joint | Double cross tap joint |38 dR 15 3T 4T =716 &7 TRUS &9 515 ACSCTAE | 3ol 1T CT NS | 59l h1F 0T AT B 1 Wire joints 8-10
!
;
H
4|which type of soldering flux is used for Rosin Zinc chloride Sal ammonia Hydrochloric acid ~ [ed=iiehd olig & TaIT v TR o TTeaRaT A=t STEAT FARISS el AT EISgIFallReh 3TF el D 2 Soldering 8-10
soldering galvanised iron? FIFH FT ST FHT ST 872
5|[Which method of soldering is used for Dip soldering Soldering with a flame Soldering with Soldering with HATAT 3c9TesT 3R [Cfa1eT 1 &g it AT Aes kel 29 Aresiar SaTell & &Y s A & [FesRaTad s @y [ A 2 Soldering 8-10
quantity production and for tinning work? soldering iron soldering gun TTer &1 wveT fohar SITaT 82 Aresiar ary Aresiar Tresiar
6|What is the name of the part marked as ‘X’ in Bedding Armouring Lead sheath Paper insulation |38 3[F3Td hael 3 'X' & ST HIT T ATH i3 AR EERIE FTS HelToleh A 1 UG cable - 11-12
the under ground (UG) cable? ERIEN Construction
3
7|What is the full form of “XLPE’ Cable? Cross Line Poly X'ess Line Phase Cross Linked Poly Excess Length Paper |XLPE' mq;tﬁm% Cross Line Poly | X'ess Line Phase | Cross Linked Poly Excess Length C 1 UG cable - 11-12
Ethylene Earthing Ethylene and Ebonite Ethylene Earthing Ethylene Paper and Ebonite Type
8|What is the purpose of ‘serving’ layer in Protect the cable from | Protect the cable from [Protect metallic sheath | Protect armouring  |H{fReTdl Shael # |IdeT WX &1 AT 3TANIT g2 FIT P AHT T | el I JT1Aeh &F1cl | HTicdch had i AT T D 2 UG cable - 11-12
underground cable? moisture mechanical injury against corrosion  |from atmospheric LA EBIC) ERUTH O | agHseny feafa & Construction
condition SATAT
9|Which cable laying method is used in In ducts Racks in air Along buildings Directin ground  |3cUTe TIAT H Tohd YohR hl chalol [SOTeT ahl 3 H &1 A 3 I & T oY ST J B 2 UG cable 11-12
generating station? Tafer &1 g2er fovam ST 82 location faults
10{How many electrons are there in the valence 1 2 8 18 TS & GTHATU] o TS <5 3 feohelel Folereral 81 1 2 8 18 A 1 UG cables - 11-12
shell of a copper atom? g2 laying
methods
11|{What is the effect of electric current on neon Heating effect Magnetic effect Chemical effect Gas ionization effect [1IeT o9 & [dcgd TRT T FHTT &FAT FHgelldl 82 FHT 9T LI THTT T JHTT 3T ITIATHIOT D 2 Atomic 8-10
lamp? EEIC] structure
12|What is the unit of insulation resistance? Ohm Kilo ohm Milli ohm Mega ohm FrdTele SToRTY 3 SHlS o- 3R et e el 3ed ;I EHA D 1 Effects of 8-10
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13|Which electrical device is the coarse excess Cartridge fuses Rewirable fuses Miniature Circuit High Rupturing et AT [degcl STHIUT JHTeh TRl TRT FifesT F Jef: dR et AR | [AfaeaR afie sax | &15 Toarer atdar Insulators 8-10
current protection? Breaker (MCB) Capacity (HRC) Fuses |GR&ToT &7 L2l TSt

14|Which type of joint is used for extending the Scarfed joint Aerial tap joint Britannia “T” joint Western Union joint [RRIGR ol & =Tefeh &l o1dTg SeTa & 1ohdl THTHS A TRU &7 S5 e T e | d%es gaaa s Current 8-10
length of conductor in over head lines? R & S8 39T fohd ST 872 carrying

capacity

15|Which type of soldering flux is used for Tallow Ker-al-lite Zinc chloride Sal ammonia rosin FNFATH =TT I TosT I 8 ol TR ot Y -3el-e1SC SEAT FARESS | Aol AT ATt Wire joints 8-10
soldering aluminium conductors? F Ole Tl T TAN9T fohaT STt 87

16|What is the effect on molten solder due to Tin content reduced | Lead content reduced | Prevent slug formation | Uneven flowing in |l § THTesY ! SR-aR TUEllel § T YHTT | o7 &1 AT HA G | HIH 7 AT FA G | Tl bl ol A U | ST T 3THATT Soldering 8-10
repeated melting? joints gSdr g? G RIGIE aarg dgld

17|What will happen to PVC insulation in cable |Voltage drop increases Voltage drop Insulation resistance | Insulation resistance | & PVC FdTeleh &1 &1 8141, TS HcATWF | dNecst Oid d¢on | dlecst g9 T FraTersh Jiare FraTersh Jiare soldering 8-10
carries excess current continuously for long decreases increases decreases YRT ol AT o Sl 8 ? Feam g
period?

18|Which method of cable laying is suitable for Racks in air Duct pipes Along buildings Directin ground  [&aeT TroTel Y ahlet &Y Tafer wehiot a1t & EIGEED ECORIES] =T o AT @ AT A Voltage 8-10
congested areas? SQQIEH%? grading of

cables

19|What is the name of the part marked ‘X’ in Serving Bedding Armouring Lead sheath 39 [A9Td et 7 X' H ST HIET I ATH fger sfgar AR EERIE] UG cable 11-12

UG cables? ERIEN laying
methods
X
N—

20|What is the fault of U.G cable identified in the Ground fault Short circuit fault Open circuit fault | Weak insulation fault |3{fHaTd sael & TehH Jeh & GIY &1 AT fehal qaw o] TRYY &Y Goll IRUY GIY | FHAN HaTersh ary UG cable - 11-12
circuit? ST HhaT &2 Construction

21|Which part of the underground cable is Serving Bedding Armouring Lead sheath AT FaeT F HleT T HET UTATT had I afder sfsar AR EERIE] UG cable - 11-12
protecting the metallic sheath against &ROT § ST 872 Construction
corrosion?

22|Why the soldering iron must be kept into a It prevents burns and To control the To save the time of | To save the operator [ETesRaT 3R T 3ULNT of oA & HHA TS | TG oTolal UG 3191 | IRl AT b1 | HoSRIT TishaT T | Fellerh I [degdl UG cables - 11-12
stand that not in use while soldering? fire excessive heat soldering process from electric shock |# F4T T@=IT ATfRT? I UehcT & afId wt 8g HHI S 8 FTch ¥ T4 8 Construction

23|Which type of wire joint is found in the Aerial tap joint Plain tap joint Rat tail joint Married joint STRIST S1eF 3 fohd YR o dRT & SIS AT S | URTS &9 S @Y T NS AN ARE S Soldering 8-10
junction box? &2

24|What is the name of the joint? Married joint Scarfed joint Western union joint | Britannia straight joint |2 STS sl &7 ATH 2 AN N3 THHS A Jeea AT g | Toerferar gren s Wire joints 8-10

ELNtazs12
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25|What is the use of Britannia ‘T" joint ? Extending the length | Inside and outside | Mechanical stress not | Tapping the service [fSerferar ‘T' s T &1 YT &2 ST 1 oTFalg hT | AR AR aEd | =roreh R AR |TERIG oftget & Far Wire joints 8-10
of the lines wiring installation | required on conductor |  connection from G AR T 1| TATT HTaRTF AT | 3T & gl
overhead lines
26|Which type of soldering method is used for Dip soldering Soldering with a flame Soldering with Soldering with a  [GATEET 3R RAIRT T & ToIT foha Fehr 3t 37 Aresiar ST &% W | HesRaT a1 & A1y | Hies et 3R & Wire joints 8-10
servicing and repairing work? soldering gun soldering iron TAreaRer fafer yier & s §2 dresiier dresfier qry Hresiar
27|What is the use of dipsoldering method? Soft soldering Piping and cable Soldering miniature Soldering sensitive |39 AlesRaT fafer &1 39T FA1 67 H TresRar aISTer AR el [T A B Al | Hgerler fegd Soldering 8-10
soldering work components on PCB | electric components AresRaT T |[dr Gresier TN T BresRaT
28{Name the part marked ‘X’ of belted U.G cable. Jute filling Armouring Lead sheath Paper insulation  [dees H[A9Td et 7 'X' A ST HIST &l ATH qede BT STARET EERIE HTTS HelToleh Soldering 8-10
arsy|
§
H
29|Which insulating material is used as hot Polyamine hardener | Cast resin compound | Bituminous compound |  Epoxy castresin  [aleT &T aTeidh UGrel H{H3Td el 3 1A AN[aTh | Uiell 3T g5k | T e A6 | (O HeTd ANareh | TaIeRT hiee 8T UG cable - 11-12
pouring compound for making joints in under compound &I g 3Tl ST 82 It Construction
ground cable?
30|What is the purpose of bedding insulation of | Protect the cable from | Protect the cable from | Protect armouring Protect the metallic  |3[TFeTd el 31 STS9T T AT 353 &2 Shelcl T TTTIh &1 |Shelcl T AT UG 31 AR H | elfcaeh had I UG cable 11-12
U.G. cable? mechanical injury moisture and gases from atmospheric sheath against LERICH LERICH argmzrﬁaﬁa’r &ROT & dTeT joints
condition corrosion ST
31|Which test is conducted to locate the faults in Loop test External growler test | Break down voltage | Insulation resistance |#f#3Td el & [oh8 TR o alY ol AT ToRaT o[ T T AMFoN CEC | Seh ST3e1 Alecol S¥C | FraTeleh TTaRTY S¥C UG cable - 11-12
U.G. cables? test test ST GehdT &7 Insulating
materils
32|What does the number 1.40 represent if a Area of cross section Radius of one Diameter of all Diameter of each aﬁwgumﬁWLM | 3T fhar Srar I IEA HIC T T dTeleh I (3T | T ATl T <O | Tcdoh dTeleh &l UG cable - 11-12
stranded conductor is designated as 7/1.40? conductor conductor conductor &, ar 1.40 a7 SRITaT 872 E ) e Fault location
33|What is the value of electrical conductivity of 61 mho/m 56 mho/m 35 mho/m 28 mho/m U@I?Fﬁﬁ?m TcTeh ST ATeAehlT T FIT AT &7 61 mho/m 56 mho/m 35 mho/m 28 mho/m Conductors - 8-10
aluminium conductor? Size
34|What is the rating factor of cable provided 1.11 1.23 0.81 0.707 el T 3178 AR RT G&T & ToIT &RT 1.11 1.23 0.81 0.707 Conductors 8-10
with coarse excess current protection? T PRSP FATE?
35|What is the size of neutral conductor Same size of phase Half size of phase 1/4 size of phase 1/3 size of phase  |3{fA9Td shelel H SeRANeT TeTeh T 3R hol ol dTeTeh o THTeT | Uhol dTeleh O 3T (Wl TTeleh ol Ueh Ate| ol dTcleh I Ueh Current 8-10
compared to phase conductor in U.G cable? conductor conductor conductor conductor Wﬁgm:ﬁr IGRIES carrying
capacity
36|What is the name of the tool? Cutting plier Wire stripper Crimping tool Side cutting plier |38 3R T a7 AT §2 HICIT ToR IR e FoRTPeT ¢ TISE hicdT ol UG cable - 11-12
Construction
g
37|Which type of joint is used in over head lines Scarfed joint Britannia ‘T’ joint Western union joint | Britannia straight joint |3=d deadT &g ARG &1ST # hleT &1 13 THIhS SIS ol T3 | 3 ea gaa s | Saea e Jis Crimping 8-10

for high tensile strength?

39AeT T ST 82
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38|What is the reading of the micrometer? 5.05 mm 5.00 mm 4.55 mm 4.05 mm WWWW%’? 5.05 mm 5.00 mm 4,55 mm 4.05 mm Wire joints 8-10
7
39|Which method of soldering is used for Dip soldering Soldering with flame Soldering with Soldering with aTgeTT hT ATST o PN & Hes el T hief dY 20 AresiaT STl s &Y HIesRET 3 & | FesRIT a1 & Ty Wire size 8-10
repairing the vehicle body? soldering iron soldering gun ey ggeT Y ST 82 Tresiar ary dAresiar < measurement
40|What is the advantage of stranded conductor Cost is less More flexible Less voltage drop More insulation I g U HTeleh o1 BT dTeleh el Joledl 7 & ol FH AT JsF adien |5 dleest a1d JTere FaTeh Soldering 8-10
over solid conductor? resistance 7 gfaRTer
41|What is the current capacity of the 16 Amp. 11A 13A 15A 18 A 16 A Feict 1 GIRT 41T FAT S, TG Ig H1ah 1A 13A 15A 18 A Conductors 8-10
Cable, if it is protected by coarse excess HIANEFT URT GI&T GaRT TXfard 8?2
current protection?
42|What is the unit for Quantity of electricity? Mho Coulomb Volt /second Ampere/second | TSsTell ST HTHT & [o1T Sohls FAT &2 = EGIG drec/AHs TPRR/A%s Wires - 8-10
Current
carrying
capacity
43|What is the name of the soldering method? Dip soldering Soldering iron Soldering gun Soldering with flame [@TeaRaT faf&Y o1 77 AT §2 29 Aresiar AesRIT RN ATes AT 3T SaTel & |1y Simple 8-10
Aresiar electrical
circuits
44|What formula is used to find Electro Motive EMF = Potential EMF = Potential EMF = Potential EMF = Potential  |fdcgd aTgeh &l AT ¥l & Tohd G T EMF = Potential | EMF = Potential | EMF = Potential | EMF = Potential Soldering - 8-10
Force (EMF)? difference — voltage difference + voltage difference + voltage difference + 2 x 3T fRaT ST §72 difference — difference + difference + difference + 2 x methods
drop drop drop/2 voltage drop voltage drop voltage drop voltage drop/2 voltage drop
45|What is the current rating factor for close 0.81 0.92 1.23 15 el T T T ATARFT URT FI&T o faw am 0.81 0.92 1.23 15 Simple 8-10
excess current protection of cable? T FRE FATE? electrical
circuits
46|What is the disadvantage of solid conductor Less rigidity Less flexibility Low melting point Low mechanical |31 dTeleh ol A § UdTeleh ol Jolell H T glieT FH HORT A I S Ielellch FH qiAH AfFd Current 8-10
compared to stranded conductor? strength ? carrying
capacity of
conductors
47|What is the name of the soldering method? Dip soldering Soldering with blow Soldering with Temperature AresRaT [afer 1 Far a7 §2 29 Aresiar SIS A |WesRAT I & A | dIAw diad Conductors 8-10
lamp soldering gun controlled soldering AreaRar Fresiar Aresiar
!
48|What is the cause for cold solder defect in Excessive heating Insufficient heating | Incorrect use of solder [High wattage soldering |[@esReT & 33 T GV oI HRUT FAT 572 3AF FFT 3T A | TYes< ol ITeAd TAeT| 39 dlc AlesRaT Soldering - 8-10
soldering? iron 3T methods
49|What happens to the voltmeter if it is Low reading No deflection Meter burns out Overshoot deflection [T 81dT g, IS alecHIe Y 31 HT g s FH TSR s faaeret oTgr e el SR R [aaert Soldering 8-10
connected as an ammeter? Se?
50|Which conductors are used for distribution Insulated conductors Insulated solid Bare conductors Two core cable TATAR oS o [IT PleT-AT Shesae ST Segolcs Fesacy | Fogelcs dlols & FesFcd 2l PR FHdol Types of 8-10
lines? conductors grarg? FosFcl electric supply
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Name of the Trade - Electrician 1st Sem - NSQF - Module 4 - Basic Electrical Practice

# Question OPT A OPTB OPT C OPT D Question OPT A OPTB OPTC OPT D Ans | Level | Topic of syllabus Week No of
the Syllabus
1[How many electrons are there in the third 8 13 18 29 T & ORATT] & AR a7 H fehclal 8 13 18 29 C 1 Atomic structure 8-10
cell of the copper atom? FolFeTeT 8l 872
2|Which is the semiconductor material? Eureka Ebonite Manganin Germanium AT 9T Hie AT &2 YA TR HeaMiotat EEicpe D 2 Semi conductors 8-10
3|What is the indication of neon polarity Both electrodes will | Only one electrode | Both electrodes will | One electrode will [T §aielT Feheieh T AC 3Tfcl Srerd Sl SAFCIS STl & | Shaol Ueh SoIFeIS oTeldl | Glell Soldels dHehd & | U SoFcIS SToldT 3R | A 2 Types of electric 8-10
indicator used for checking A.C. supply? glow will glow be flickering glow and another |G Tehd F4T 1T &2 g AT THRT supply
will be flickering
4]Calculate the electrical energy in unit 0.5 unit 1.0 unit 1.5 unit 2.5 unit 500W & ofd &1 5 T STellel W faegd 0.5 unit 1.0 unit 1.5 unit 2.5 unit D 2 Parallel circuit 13-15
consumed by 500W lamp for 5 hours. St 1 @ud & FfAeH Aafae problem
5|What is the value of hot resistance of a 31.25 ohm 62.50 ohm 312.50 ohm 625.00 ohm 100W/250V & XT3 Fod & I TfaRig 31.25 ohm 62.50 ohm 312.50 ohm 625.00 ohm D 2 | Laws of resistance 13-15
bulb rated as 100W/250V? T HTeT T g2
6|Which law states that in closed electric Ohm's law Laws of resistance | Kirchhoff's first law | Kirchhoff's second [enleT &T f?pm FEdT &, 1 96 19egd 3MNEH F e gfaer & e TR & Tgell [ | A drgar @ ad | D 1 Krichhoff's law 13-15
circuit, the applied voltage is equal to the law g & ST 91T e, dlecst uTd
sum of the voltage drops? F 9T F TSR BT 82
7|Calculate the total power of the circuit of 50 W 100 W 200 W 400 W 200W/240V & 2T ofd 240V 3Tqfd & 50 W 100 W 200 W 400 W B 2 Parallel circuit 13-15
two lamps rated as 200W/240V are Aol 7 35 UE; Fol Al w1 HIfS
connected in series across 240V supply?
8[What is the formula for the equivalent Rr=R;+R,+R; 1 01 1 1 R - 1 fe, T 9o’ Ry, R, & Ry TATAR Rr=R; +R, + R, 11 1 1 R+ = 1 D 1 Parallel circuit 13-15
resistance (Ry) of the three resistors Ry, R, Ry=—+—+—| Ry=————|"T"7 1 1 qRger & 3 &1, af Feor wfekier A Rr=—+—+—| Ry=——"F— T 1 1
& R;are connected in parallel circuit? R R Ry Ri+Rp+R3 Rl R2 T R3 | R R2 Ry Ri+Ry+R3 Rl "Rz "R3
9|What is the reading of ohmmeter across Indicate zero reading | Indicate infinite Total resistance | Value of sum of the [3TEHHIC I IISATH Yol §UR, TTAUY | YA IS W Hhd | 3eTd UISATH W Hbd | TR T Fol T R, 3R R, UfcRTel & B 1 Series circuit 13-15
opened ‘R,’ resistor? resistance value of the circuit resistance of R; 9T /T g2 HIoT YT T ATT
and R; only
_ : R R,
gy
Ry
RESISTOR LJ
Ry
10|What is the change of resistance value of Increases to two Decreases to four | Decrease to half of | No change in value |TR&T TTeeh & ITaRIer & FIT TRdTsT ST e §¢ S9N IR A1 oI HH & TEN Teh A &1 ST | STaTey & i IRecrel B 2 | Laws of resistance 13-15
the conductor as its diameter is doubled? times times the value of resistance A1, IS 36 A1 1 AT fear SR el g
ST?
11|What is the name of the resistor? Metal film resistor | Wire wound resistor Carbon — film Carbon composition [9faRTer & &1 AT §2 &1q fhed giaqe ar 99 g uyfae FIe thed gfaTer FIe [AAT gfare B 1 Resistor - Types 13-15
resistor resistor
@ O\
.
T |
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12|Calculate the resistance value of the 23x10°Q+5% 26x10°Q+10% | 32x10°Q+10% | 37x10°Q+5% |TT%e fafer & g 9faRies 1 &A1 23x10°Q+5% 26 x10° Q + 10% 32x10° Q% 10% 37x10°Q+5% Resistors - 13-15
resistor by colour coding method. ERIEN Measurement -
colour coding
— i —
BLUE 8LVER i
13|Why the ohmmeter is graduated with non- | Voltage is directly | Current is inversely Resistance is Voltage is directly [3Nea#TEX Pl 3RWIT HA H FIT THTTT Alecot, UTaRTeT & RT, IfoRIeT & YTaRTE, &RT & g9T Jlecs!, URT & 9T & Ohm meter 13-15
linear scale? proportional to proportional to inversely proportional to the |fRaT ST TehT §2 AU & SYHAT e SYHA IS FAFIA &
resistance resistance proportional to the square of the
square of current current
1mmn 40 0Q 0
1k 100
e ]
< OHMS 0 OHMS g
14|Calculate the value of unknown resistance 120 90 6Q 30 FICEA TsioT T HJoled ol TEAT H 120 920 60 30 Wheat stone bridge| 13- 15
‘Rpc’ in the Wheatstone bridge network, If 37T IFeRIY ‘R’ T ATA AT hiford,
Pas = 5000, Qgc = 3000, Sy = 15Qat ST Pag = 5000, Qe = 3000Q, Spp =
balanced condition. 15Q &
1)1
15|Which material is having negative Mica Eureka Copper Manganin TrE Jard  MOTcHS dTIHTS 0TI RIEED YA GICH HeaTfotet Temperature - 13-15
temperature co-efficient property? IOTEIAT 872 effect
16|What electrical quantities are related in Current, resistance |Current, voltage and |Current, voltage and | Voltage, resistance |3gdH & ﬁ-ram Q graTed [aegd uiar | R, gfeRre o erfed IR, Aloce 3R RT, Aecol 3R IR | afecol, TTaRer 3R &Y Ohm's law 13-15
Ohm’s law? and power resistivity resistance and current density [T T §? gfeRIgear gaTdr
17|Calculate the value of resistance ‘R;’ in the 2Q 4Q 60Q 80 THATAR IRIYT F R, T AleT AT hlTord 20 40 60 80 Parallel circuit 13-15
parallel circuit.
18|What is the effect of the parallel circuit with | Current will remain [Whole circuit will not | No current will flow Voltage drop Teh QTET Bl W JATaR IRIYT & URT GATT Sl QI | QU IRIY 1 AT S| 39 AT H URT 6] | Gl AT A dlecof 91 Parallel circuit 13-15
one branch opened? same function in that branch increase in the T JATT ? el ¢ SR
opened branch
19(What is the unit of resistivity? ohm/cm ohm / cm? ohm - metre ohm / metre TfCRYEThT T T SahTs §72 ohm/cm ohm / cm? ohm - metre ohm / metre Laws of resistance 13-15
20|Which type of resistor is used for Arc Varistors Sensistors Thermistors Light dependent  [Gfehe SIXT 3 31T QTFT FI&TT & oIl INTX e uffeex wrge f3use YaeeX Resistor - Types 13-15
quenching protection in circuit breakers? resistor (LDR)  |fF& YR & UfaRrer a1 393ier foham
ST R?
21[Calculate the value of resistance by colour | 22 x 10°+ 10% 23 x 10% £ 10% 25 x 10%+ 5% 36 x10°£5% %91 %e 1At o carT GiaRyer &1 #H1et 22 x 10% £ 10% 23 x 10° + 10% 25 x 10%+ 5% 36 x 10° £ 5% Resistor - 13- 15
coding method. ERIEN Measurement

ELNt40731
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22|Calculate the unknown resistance “Rpc” in 40 60 80 12Q dreEI T9aT S Aol hl 3raAT H 40 60 80 120Q Wheat stone bridge 13-15
the Wheatstone bridge circuit, if P,g=400 3T TR Ry’ &1 AT AT hifard,
ohms, Qgc=200 ohms and Sp=120hms at ST P = 400Q, Qgc = 200Q, Spp =
balanced condition. 1208
§
H
23|What is the reading of the voltmeter ‘V'? ov 6V 9V 118V JlecHIeS V' HI ITSTTh Jdisy| oV 6V 9V 118V Series circuit 13-15
24|Which is the application of series circuit? | Voltmeter connection| Lighting circuits in Shunt resistor in | Multiplier resistor of [Soft TRw2r &7 T IUAT &2 alecHIER Tt R H GhreiT aRTYy | 3R # ee ek |alecHie ol AecIvalX Series circuit 13-15
home ammeter a voltmeter gfarer
25|What is the effect on opened resistor in No effect in opened | Full circuit current | Total supply voltage |  No voltage will  [0f 992 3 Tl g TITaRTe 92 &R Gl SR A RS Fo1d | Gl TR A A Q01 | Gl FIoRIY & aledl 3R | ol Fiakied o grait 3K Series circuit 13-15
series circuit? resistor will flow in opened | will appear across | appear across the |931a &7 &Y qRTer &Y ST Fol YT Ao G@a | FIg Ao oAe G@am
resistor the opened resistor opened resistor
26|Calculate the resistance value in R 4 Ohm 6 Ohm 8 Ohm 12 Ohm R, TTeRTe & ITRT T AT I8y 4 Ohm 6 Ohm 8 Ohm 12 Ohm Parallel circuit 13-15
resistor.
12A Ry=6Q
v i
3
27|What is the effect of the circuit, if ‘ab’ Circuit resistance will | Same current will | Supply voltage will | Total circuit current [aRw2r & &FT werra grem, afe; AB &Y IRy GfaRTeT e gl | T @t 7 FAHA Tcdeh @l A 3T | ol IRUY URT Y Short in parallel 13-15
points are shorted? be zero flow in all branches | exist in each branch | is equal to each  |[FgIRIT R feaT S| ST YRT SN Aot W T 4R F TAT gt circuit
branch circuit
current
§
H
28|What is the name of the resistor if its Varistors Sensistors Thermistors Light Dependent  [ITe ATIAT & gig 3 AT SHAT TTRTET INTX A yfFATx wse f3use Y/eeX Temperature - 13-15
resistance value increase with increase in Resistor (LDR)  |#TeT S&aT &, af 9faRYer &1 A1 a7 82 effect
temperature?
29|What is the formula for Quantity of Current x Time Voltage x Current |Current x Resistance Voltage x e a AT 1 A FAT 672 R x THT Frecet x GRT RT x FTaRTer drecet x TfeRIy Simple electrical 8-10
electricity (Q)? Resistance circuit
30|What is the unit of conductance? Mho Ohm Ohm-m Ohm/m ATeThclT T SIS FAT &7 Mho Ohm Ohm-m Ohm/m Simple electrical 8-10

circuit
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31|Which one defines the change in Temperature effect |Laws of temperature Temperature Temperature co- |3Nga fa 3t A€EIE (° C) A USRI H GIEGICEEIC] dIHAT & T AT s ATIHATT 0T Temperature - 13-15
resistance in Ohm(Q) per degree constant efficient IR &t dleT a1 aReiT Far &2 effect
centigrade (°C)?
32|Which type of meter is used to test the Moving iron ammeter |Moving coil voltmeter Moving iron Dynamo meter type [SeXT &1 §adT Siidel & ToIC [ohd TR &l T ilg 3T T FZell dlecHIY Tl oilg dlecHIe STEAHATHICT ThR hT Types of electric 8-10
polarity of battery? voltmeter wattmeter FHreX ger foRam ST §72 qreAY supply
33|What is the voltage drop in resistor ‘R,’ in 5 Volt 10 Volt 15 Volt 20 Volt Aot g9y & gfalyes R, # alecsl IId 5 Volt 10 Volt 15 Volt 20 Volt Series circuit 13-15
the series circuit? B ERIEY
1000 R, 2000
TSOV
L«:»—«:»— 3
Ry 30000 R, 40000 5
34|Which is the application of series circuit? Fuse in circuit  |Voltmeter connection| Electrical lamp in Shunt resistor in ~ |30f aRT2r &7 1 3T=NT 2 IRTYT 7 TS JrecHIe TaTolel o A [aegd oa 37T A Qe TfaRTes Series circuit 13-15
homes ammeter
35|Which method is used for measuring 1 Substitution method |Kelvin bridge method| Wheat stone bridge Voltmeter and |1 3eA & 100K 3TeH de AT & Hiel gfaeamd= fafe hiedsT Torel TaTer Tl oot fater recHTer AR TR Wheat stone bridge 13-15
Ohm to 100K Ohm range resistance? method ammeter method &Y faf®r & 3uer fovam e &7 afer
36|What is the S.I unit of specific resistance? Ohm/cm Ohm/metre? Ohm-metre Micro ohm/cm? | Tafrse ufaRier & S| sehrs #1872 3NeEARH /R 3EA-HAIX HSH HEAAH? Laws of resistance 13-15
37|What is the value of resistance of the 330 £ 5% Ohm 3300 + 10% Ohm | 33000 + 5 % Ohm [330000 * 10% Ohm [7foRIeres & 9TaRYer 7 &1 AT §7 330 + 5% Ohm 3300 £ 10% Ohm 33000 + 5% Ohm 330000 + 10% Ohm Resistors - 13-15
resistor? Measurement
ORANGE ORANGE RED SLVER
38|What is the purpose of the shunt resistor | To limit the currentin | To increase the To adjust the zero To prevent the |30l &R & e HieX IRIT H AT ARTY A GRT I WA | #e IR F AT T | Tehcloh 1 Y AT | TRIY A 3fAReFT arr Ohm meter 13-15
‘R,’ used in series type Ohm meter circuit? the circuit value of meter position of the excess current in  |[9faRIYT R, T T 39197 §7 Cxoi Ergi FI gHEIGT T T Jehell
resistance pointer the circuit
§
39|Which electrical quantity affects the heat Voltage Square of the current| ~ Square of the Current passed  |olsT AT T g AT dTeleh 3 AT dlecal ITRT T a1 TTaRYEr T FaT 309 gaifed 9RT Temperature - 13-15
generated in a conductor? resistance through it 3ceoT BT T el 872 effect
40|What is the change in value of resistance No change Decreases 2 times | Increases 2 times | Decreases 4 times [@Teleh & YTaRIET & HAIA 7 T IR F1s gRade gl A AN BAG AT g | & YT AR & AT & | R A1 H &1 AT & Laws of resistance 13-15

of the conductor, if its cross section area is
doubled?

BT &, 319N SHHT AT TEA FHIC &1l

GILATEY ST 872
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41|Calculate the voltage drop across the 48V 72V 80V 100 V IRy F 9iaRTes R, W dlecst Urd &l 48V 72V 80V 100 V Combination circuit 13-15
resistor ‘R,’ in the circuit. IOTAT RIS
Ri=60 Ry=002 Ry=500
Ry=8001
L L= E
20V é
42|What is the resistance of Light Dependent Increases Decreases Remains same Becomes infinity [elTse BU3c IRATeR o UfaRIe & g1, eI Eren HAT I 37T &1 STem Resistors - Types 13-15
Resistor (LDR), if the intensity of light is e yahrer r Argar Fer &
increased?
43[Which formula is used to calculate the Voltage x time Current x voltage | Current x resistance | Voltage x resistance |3IGT IRTY 3 ATec & I0TAT il T diecot X GHA YT x dlecol YRT x FTaRTET Frecet x IRy DC circuits 13-15
power of a DC circuit? FATHILE?
44|Calculate the hot resistance of 200W / 31.25Q 62.5Q 31250 625 Q 200W / 250V Y3 oY & a1eT Hierrer sh 31.250 62.5Q 31250 625 Q Ohm's law 13-15
250V rated lamp. IIOTAT |
45|What is the value of resistance in an open Zero Low High Infinity e Gl Afehe A STk &7 A a1 82 L= FH EIBED 3eld Circuits 13-15
circuit?
46|Which resistor the lowest current flows in a 50 O 220 Q 450 Q 560 Q HATAR IR H é‘g’U.SQQ, 220Q, 50 Q 220 Q 450 Q 560 Q Parallel circuits 13-15
parallel circuit having the values of 450Q 4T 560Q E=Rl T
50 Q, 220 Q, 450 Q and 560 Q connected TR 3 T e URT T61d geI?
with supply?
47|What is the specific resistance value of 1.72 Ohm/cm® 1.72 Micro ohm | 1.72 Micro ohm/ecm? | 1.72 Micro ohm/m [aT3 TTeles T fafRrse gfaRier #1eT #1872 1.72 Ohm/cm® 1.72 Micro ohm 1.72 Micro ohm/cm?® 1.72 Micro ohm/m Laws of resistance 13-15
copper conductor?
48|Which is inversely proportional to the Length Resistivity Temperature Area of cross  [ITeTeh & FTRTE & e cshaTe] Tl &FaT S gieRTeeRdr ATIATT 3T TEY T T &7l Laws of resistance 13-15

resistance of a conductor?

section

BT &2
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Name of the Trade - Electrician 1st Sem - NSQF - Module 5 - Magnetism and Capacitors

10MFD 1MFD  z0MFD

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Level Topic of Week No of the
syllabus Syllabus
1{Calculate the total capacitance value in 0.16 pF 6 uF 30 uF 70 uF a2 &t ol FLTRAT T 07T 0.16 pF 6 UF 30 uF 70 uF B 2 Grouping of 16 - 17
the circuit. CAIcD) capacitors
300F 10pF 30pF
{1 I {1
‘I ‘l
Al 1=
2|What is the unit of capacitance? Mho Henry Farad Coulomb FeTRaT $ sTs FAT 82 Mho Henry Farad Coulomb C 1 Capacitors 16 - 17
3|What is the capacitance value of a 0.014 F 0.025 F 0.14 F 0.25F T GUTRF FT &TRAT AT FT 14T, 0.014 F 0.025 F 0.14F 0.25F A 2 Capacitors 16 - 17
capacitor that requires 0.5 coulomb to 7fg 35 dtec & faIw 0.5 FHelre 3maer
charge to 35 volt? FI IR &I?
4[How the value of capacitance can be Increasing the plate Increasing the Increasing the Using high dielectric [T&TRAT & #TT T H& e [T T CAIC &19thel &l SGIY | Celel & FTAU &l dela | Teldl & ALY gl dela | 3od Wifdggd @adiss | C 3 Capacitors 16 - 17
decreased? area resistance of the plates| distance between the constant material  |[ThaT &7 Tere T 3TN Fh
plates
5|Which is the diamagnetic substance? Air Steel Water Platinum RIGFEHIT I&Td HisT A1 57 ag FEqTT STel ColfeaTH C 2 Magnets 16 - 17
materials
6|Which factor affects the polarity of the Length of the coil Direction of current Strength of current Strength of the el A1 HRE [degd Pah FSell &l olFaTg TR AT fe=m T T ATF AT &1 Y AT B 2 | Electro magnet 16 - 17
electromagnet? magnetic field AT & AT T 872
7|What is the unit of Magneto Motive Force Ampere / M2 Ampere - M Ampere - turns Ampere / turns AT ATEe Tl B FAT SIS 67 TR/ TFRR-AY TFRR-C TFERR /T [ 2 Magnets terms 16 - 17
(MMF)?
8|What is the total inductance if 3 inductors Lr=L;xL,x Ly Lr=L,+L,+ Lg 1 01 1 1 T 3 IRehed (Ly, L, 3R L) g@er & Lr=LixLyx Lg Lr=Ly+L,+ L 101 1 1 B 2 Self induced 16 - 17
. i na L =— 4 — 4+ — — - - = = = = -
(L1, L, and L) are connected in series? TTLLTL T L+L,+L, SIS US ol Fol Uehed AT &2 L, L + L + L TS AL L emf
9|What is the unit of permeance? Ampere - turns Weber/Ampere turns | Ampere turns/Weber | Weber/Square metre [oRTAIH ST SIS FAT5? TFRR-&o AR/TFRR-T TFIIR-C- /AR AR B 1 Magnet terms 16 - 17
10{Which rule is applied to find the direction Cork screw rule Right hand palm rule |Flemings left hand rule| Flemings right hand qﬁmﬁﬂgﬁ H FeehT &1 &l ik T [AAH CITgel &Y T el Al | Fol (9T T STAT GIA T | Fel AT T Gl 1Y T B 1 Principle and 16 - 17
of magnetic fields in a solenoid coil? rule e @ietet & forw sler &1 fare e o s GRC) laws
R ST 872
11|Calculate the total value of capacitance 4ufd 10ufd 15ufd 40ufd Aol aRaY 1 et FETRAT & 7011 4pfd 10ufd 15ufd 40ufd D 2 Grouping of 16 - 17
of series capacitor circuit. e capacitors
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12|What precaution to be taken before All the capacitors must | Each capacitors Total capacitors value |Break down voltage of [§&el & faffiee dlecat Icar TaTRAT | T HURAeX Tk &1 Tcdsh HAffeX dlecol | el HATAER &1 Hiel Jcdeh TETRT &l Grouping of 16 - 17
connecting the different voltage rating be same manufacturer | voltage drop must be | must be less than the | each capacitor must |l Si1Ssl & Ugel FAT ATTYUTAT SciT AT & gt TIfeT |30 3Tehr dlecat YT & | TR & fAeTas AT | ShsT3 dlecs T capacitors
capacitors in series? less than its voltage lowest value of be same ST ATRT? FA glell AT T FHA gl AT glar arfgw

rating capacitor

13|Which material is the paramagnetic Cleat wiring Copper Bismuth Graphite el AT TGId H] e TaTd 572 Follc AIRIT GIEN [Ersaty APRIBT Magnets - 16 - 17
substance? materials

14|What is the part marked as ‘X’ in B.H Coercivity Saturation point Magnetizing force Residual magnetism [B-H d% & X' GaRT 3ifehct #1137 T ATH Frefaradr Haed fog LFEHIT ol 3AAY Feehcd B.H curve 16 - 17
curve? ERIENY

15|What is the similar term in magnetic Reluctivity Permeance Reluctance Permeability g d IRTY # "HTelehd” & ToIT Rerereiacr RAIT Reweq RiFITSTrEr Magnet - Terms 16 - 17
circuit for “conductance” in electrical g Tfhe H AT eUsg FAT &2
circuit?

16|What is the unit of Reluctance? Weber / metre? Weber / metre Ampere tumns / Weber | Ampere turns / metre? |Relercd i SehTs T 52 Je/Ae FeR/AI TFRR-ce /A TFRR-e= S/ AT Magnet - Terms 16 - 17

17|Which is the correct expression of C=VQ Ife [Iegd 3maer'Q’ § 3R dleest 'V* 0 C=VQ Capacitors 16 - 17
capacitance ‘C’ if the electric charge is C = SVL C= v C=4VQ &, ar guRar 'C $r a8y sifaEa C = V; C = v C=4VQ
‘Q’ and the voltage is ‘V'? Q FATE? Q

18[How can you increase the pulling Increase the field | Reduce the currentin [Reduce the number of | Increase the B-H |39 Ueh fdegd go=sh 1 Wiwret &t BEEIRIECIEMIY el H FIC HA FL | FSell A YA I TCAT | Jerd o &1-0d dsh Electro magnet 16 - 17
strength of an electromagnet? intensity the coil turns in the coil curve of the material |dTehd H IgT el &7 FH HL CrY

19|Which defines the flux density is always Hysteresis Magnetic intensity Magnetic induction | Residual magnetism |Feler Helcd gHRIT eehId doT U e I eI TFahT ST 3EAY P B.H curve 16 - 17
lagging behind the magnetising force? IS Tgar &, fraent aRenfa aar §72

20|What is the effect on surrounding metal Hysteresis Skin effect Eddy current Dielectric stress [ 819 3 Y@ 315 3T T €1g e EEIEEIC] Ha YURT ERECUGREIC] Electro magnet 16 - 17
placed in a magnetic field? TR T JHTT IST 872

21[In which device the air capacitors are TV tuner Oscillator Loudspeaker Radio receiver g FUTRA T 3TN Tohd 3THIT H A TR alelsh eafa-IAeares a9 I AR Capacitors 16 - 17
used? fRaT STaT 872

22|What will happen, if the polarized No effect on the Explode due to Current s reduced in | Value of capacitance [afg Ydidd Seiaciarsice ALTRA TURT TR FI5 THIG AT | T IHT h PRUT | IRIA HURTHFA G | TUTRAT T ATA SerT Capacitors - 16 - 17
electrolytic capacitor is reversely capacitor excessive heat the circuit will be increased  |fATIT ®9 A S[STE 3178, ol &4 gram? rairs ST E SreeT defects
connected?

23|Which is the diamagnetic substance? Wood Nickel Platinum Manganese RIGFIHIT TeTd Hief AT 57 oThaT [EET Tl fesTe FHaretrer Magnets - 16 - 17

materials
24|What is the S.I unit of Flux density? Tesla Weber Weber/metre Ampere-turns FoIFH Helcd T S| SHIS FIT 72 [l I FeR/HTR TFRR-Te Magnetism - 16 - 17
Terms
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25|What indicates the shape of a BH curve Reluctance of the Field intensity of the |Magnetic properties of | Pulling power of the [aerel &T B-H g (REERAT o[9) & TeTd 1 Rereed EEBEIGERIEG] TeTY T eI TN T AT B.H curve 16 - 17
(Hysteresis loop) of material? material substance the material magnetic material |37 FAT GRITAT 72 ICREGIY raer

26|Which electrical quantity is directly Voltage Current Frequency Resistance il AT [aegd AT ATY $eR 9T & drecet aRT Jmgfea gfeRrer Counter emf 16 - 17
proportional to the eddy current? HAT T BT 872

27|Which is the cause for changing the Length Flux density Field intensity Magneto motive force |[RIFATSTAET & aRATId gle &l T EESIES FoleFd Helcd BEGIEGH I A6 dcl Magnets - 16 - 17
permeability? FROT §? Terms

28|Which type of capacitor is used for space Plastic film type Ceramic disc type | Electrolytic-Aluminium | Electrolytic-Tantalum |feh& JehR &1 TaRT 37aReT TATREC Tthed JehlX RAS 3T ThR EREIGIEI[oc SoFeIBeh-ccotd Capacitor - 16 - 17
electronics? type type SolFCifelard o ol 39T foRaT ST Teg AT THR Type

87

29|What is the effect of the electrolytic It will not function It will burst at once It will become leaky | It will function normally |Selergienaice TR T THTT FAT BT ERETT Ig Uoh aR H B AT g olieh g1 SIuam g AT &7 J FRY Capacitor - 16 - 17
capacitor, if open circuit fault occurs? gIaT &, 319 Gor IR9Y 3y gielr &7 Defects

30(What will be the change in value of Becomes zero Remains same Decreases Increases gfe, TeTRT & colel ﬁ & A g STt [ g1 SIam THAT TgaT S gIaT e Capacitors 16 - 17
capacitance if the distance of the plates g, a aTRar & A 7 a7 IRade
are decreased in the capacitor? gram?

31|Which property of magnet is illustrated? Directive property Induction property Saturation property | Poles existing property [g5aeh & @isT € [32aT g2l 715 872 [ERIBREERG] OROT TR Hejed 1A ¢ Hiolg e Magnets - 16 - 17

Property
S
= 5
s :
32|Which is a paramagnetic substance? Air Steel Glass Water T It it AT 52 ag FEaTd FT STl Magnetic - 16 - 17
materials

33|Which method of magnetization is used Induction method Single touch method | Double touch method | Divided touch method $1 fra At &1 3Tarer o9RoT AT Thd T AT ey T I anfora Taet A Magnets - 16 - 17
to make commercial purpose permanent IOTSTF 3237 o T Fraish Application
magnets? AT & fow fFar srar g2

34|(What is the effect of inductance if the Increases Decreases Becomes zero Remains same Ife gATal & el 1 gl Sed 8, at Erail Brii [ g1 e HHATA g Counter emf 16 - 17
distance between the turns increases? OROT T JHTT FIT &7

35|What is the function of dielectric insulator |Increases the strength | Prevents any current | Protects from short Helps to hold the  [&emR= & TRifaegcl FraTeieh I A | FETRAT oh clTehel QT [Colet o &l fohall ol URT | Tolel & g T U= q | HUTRA 3 A FY o Capacitor 16 - 17
in capacitor? of capacitance flow between plates circuit between the | charge in capacitor for | &2 3 AT Y AeheT & ERIGI AT doh 3G H AGG,

plates long period AT

36|Which factor is determining the value of Area of the plates Shape of the plates | Material of the plates |Thickness of the plates |[T&TRT & TR I ATA [T SR & ToleT & &Tthel Tolel & TR EEREIREE] Tl S AlCTS Capacitor 16 - 17
capacitance in capacitor? ganT feiRa g wr &2

37|Which type of capacitors are used in RF Tantalum Monolithic Electrolytic Metalized poly 3TRUT IHeA iehe A ohdl TR SeoH AATATIR SOl T dlelTaTgels] Capactor - 16 - 17
coupling circuit? propylene TR HT 39T R SATAT §2 Type
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Name of the Trade - Electrician 1st sem - NSQF - Module 6 - AC circuits

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level | Topic of syllabus Week No of
the Syllabus
1|What is the unit of susceptance? Mho Ohm Henry Farad FqEEH T SHIS FAT§? Mho Ohm Henry Farad A 1 | RLC parallel circuit 18- 19
2|What is the resistance of the inductive coil 48 Q 42.5Q 38.4Q 26.6Q SRcd FEell T TR FT @19, it 480 42.5Q 38.4Q 26.6Q B 3 RL series circuit 18-19
takes 5A current across 240V, 50Hz 240V WX ':}A RT o, 50 g‘éGf\ mﬁ 0.8
supply at 0.8 power factor? IES I C
3|How the resonance frequency (f,) can be [Increasing the inductance |Reducing the capacitance Increasing the Increasing the value of |A.C Ao aRa 7 311G 3Mefed (f,) 1 REAAA A GG | TURATAAT A FAT | FUIRAT AT A GG | IR Al H i B 3 RLC series circuit 18-19
increased in A.C series circuit? value value capacitance value resistance Y FGTAT ST GhaT &2
4|What is the formula to find 3 phase P= VI 7 . _ 3 ol RUTFea 91aR (Pg) Y fe¥ehTeld & P= VI _ ] P <3V I Cost C 1 3 phase power 20-21
Reactive power (Pg) if the line voltage is Pr= 3VLILCOSG Pr = \/ngILS'ne Pr= JEVLILCOSB T = g g, afe o areest V3R Pr = 3VL'LCOSG Pr= ‘EVLlLS'ne =3 LL measurement
V|’ and line current is ‘I,'? s el &2
5|What is the main cause for below 0.5 Due to fluctuation of True power due to Reactive power due to Reactive power due to |3 &elT JUTTell # 2Ifehd [0 0.5 lecol & 3AR-UEId & | TTeRTeh IR & dROT | IFRFARF | IWHGRITARF | C 2 Power factor - 20-21
lagging power factor in 3 phase system? voltage resistive load more inductive load more capacitive load  |TREITHT ¥ 11 gleT HTH HIT FAT §7? FHROT 37Tl afFd FROT g fshareiier HROT gfafswarefer Improvement
AfFT RIES)
6|What is the current in neutral conductor in No current will flow The algebraic sum of The algebraic sum of Lesser than the lowest  [FeR GISId RIFeH & 3 Fell 3 foid PIS YRT AT SgalT 3 FHAI3N H URTHT | haol 2 FHell3T A URT | FHoll3 7 & fhal 7 D 2 Neutral in 3 phase 20-21
3 phase unbalanced load in star current in 3 phases current in 2 phases only | current in any one of the |HR # 3T dTcleh H YRT F4T &7 st Irer T STl ITeT T A URT Y
connected system? phases qarrn:ﬁr HH
7|Calculate the apparent power in KVA of 3 15.2 KVA 11.5 KVA 9.2 KVA 5.3 KVA 3 efl, 415V, 50 Hz, R RATeA A 15.2 KVA 11.5 KVA 9.2 KVA 5.3 KVA B 3 3 phase power 20-21
phase 415V, 50 Hz, star system, if the line AT 7 MY AfFT @IWW,. measurement
current (1) is 16A at 0.8 power factor. e TSt 4T (1) 16A § 0.8 T 0T
q—{'_
8[What will be the readings of two watt W, & W, both are positive | W, is Positive and W, is |W, is equal to W, but with Zero W, is Positive 3 Sl TSoTell AU H &t dTe #rel (W, & W, IRW, el [W, GllcA® g 3IRW, | Wy, W, F R g, | W, Y3 UllcHA® & C 2 3 phase power 20-21
meters (W& W5) in 3 phase power reading negative reading opposite signs reading, and W, is W,) &1 qfFer = geft, afe arar tharex YeATcHS UTSATH FOTcHS U & |oifched TAuAd Tohcdi & | 3R W, FHoTlcA® measurement
measurement, if the power factor is zero? negative reading LI E? ary 1A &
9|What is the maximum value of voltage for 240V 415V 339.5Vv 376.8V 240 diee IRUATH & [olV dlecot BT 240V 415V 339.5V 376.8V C 2 AC terms 18 -19
240 volt RMS? HfUHdH AT FAT§?
10{What is the condition for resonance in X, > Xe X, < Xe X = X¢ X, > V2 X¢ RLC Aot aRYY 7 37116 & [T Fa1 X > Xe X < Xe X = Xe X, > V2 Xc C 2 Series resonance 18 -19
RLC series circuit? (Inductive reactance = Rufa &2 (R ufdera = X, aRd
‘X', Capacitive reactance = ‘X¢’) IEBIGE] X'
11|What is the formula for Reactive Power P, =VI P, =2 VI P, =Vl cos 6 P, =VIsin 6 AC afe # Rufaea g (Pg) 1§ P, =VI P, =2 VI P, =Vl cos 6 P, =VlIsin6 D 1 RLC series circuit 18 -19
(P,) in an AC circuit? FATE?
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12|Calculate the impedance of the circuit R = 69 Q 65 Q 13Q 120 R=50,X,=36Qand Xc =24 Q §, ar 69 Q 65 Q 130 120 RLC series circuit 18 -19
5Q, X,=36Q and X =24 Q. gfaer # gfdeTer T o S|
R X T:
; — |
8
i
i
13|What is the phase displacement in a 90° 120° 180° 270° Tehel B AC IRIY H el Tehlell 90° 120° 180° 270° 3 phase 20-21
single phase AC circuit? grarg? fundamental
14|What is the relation between the line TR TAod AT & drs alecai(V,) Star & delta 20-21
voltage (V) and phase voltage (V,) in star V|_ = \/EVP VL =3Vp V. =Vp /43 Vi =Vpl/3 TJUT B dlecal(Vp) H TFeY Sd1SU] VL = \/EVP Vi =3Vp Vi =Vp /43 Vi =Vp/3 connection
connected system?
15|Calculate the line current of the 3 phase 85A 52A 45A 3.4A 3000 aﬁﬂgf@ﬁ IR, 0.8 ATFT EIMIED 85A 52A 45A 34A Star & delta 20-21
415V 50 H; supply for the balanced load of W TR H G 3 el 415V 50 Hz connection
3000 watt at 0.8 power factor is connected TYFFE; TS GRT T I0TAT Y |
in star.
16|What is the power factor in a 3 phase 0 1 0.5 0.8 T el QAT 9= H & dre He H 0 1 0.5 0.8 3 phase power 20-21
power measurement of two wattmeters gt {fSer @ oX arferd apores 1 §72 measurement
showing equal readings?
17|Calculate the power factor of coil having 0.8 0.6 0.5 0.3 240 9k arel TSNl & ATl UM Hr 0.8 0.6 0.5 0.3 RLC series circuit 18 -19
resistance of 24Q, draws the current of IOTAT IS, AT SAST €RT, 240V/ 50Hz
5A, at 240V/ 50Hz AC supply. AC 3 o ol -
18|What is the formula to calculate the ) 5 5 2 ~ — 5 IRTerHr 9RTY o YTIAaTET (Z) Y 0T oo — : . RLC series circuit 18-19
impedance (Z) of the R.L.C series circuit, if Z=R7+y XL+ X Z=\R+(X -X¢) Z=R+(XL"=X¢) Z=R%+(Xc-X.)? e T FAFAT ¢, ATG R gfaard Z=RZ+{XL 2+ X2 Z=YRTHX Xe) Z=yR7+(XL"-Xc) Z=yR%+(Xc=X,)
the inductive reactance (X,) is less than (%) e ufaera (Xc) & w7 &2
capacitive rectance (Xc)?
19|Calculate the power factor of R.L.C circuit 0.5 0.6 0.7 0.8 FeRTE (R) = 15Q, TROTHT giend (X) = 0.5 0.6 0.7 0.8 RLC series circuit 18 -19
having resistance (R) = 150, resultant 20Q # 240V / 50Hz AC 3T & 33
reactance (X) = 20Q connected across R.L.C qRaey & erfefet Tieh &l Irorar
240V /50Hz AC supply? F?
20|Calculate the value admittance (Y) of the 3.33 Mho 0.33 Mho 0.033 Mho 0.003 Mho 240volts / 50Hz AC 3-1Tq;ﬁ3-ﬁT 8 Amp 3.33 Mho 0.33 Mho 0.033 Mho 0.003 Mho RLC parallel circuit 18-19
RLC parallel circuit connected across RT 918 aﬁ J3RLC FATAR gfdec s
240volts/50Hz AC supply and 8 Amp. AT TSTAEH (Y) &Y 01T B | TR
Current is passed through it ? ATEIH T e Iy fohar Srar g2
21|What is the formula to calculate the line Tohdl &hell RC AR IRYY H g RC parallel circuit 18 -19
I =1z -1 = _152 2 I, =1z -1 = 2 2
current (I,) of this single phase R - C L=RC I =Ig +1c I =Ir"+ Ic I, =yIr? +1c? ETRT(1,) T ITOTAT &t T G - L-RC I =lIg +lc I =Ir"+ Ic I, =4/Ir? +1c?
parallel circuit?
r e
R c
§
i
22|How the low power factor (P.F) can be By connecting resistors in | By connecting capacitors | By connecting inductors | By connecting capacitors [T IR 3 &3 iferd J[0Te (P.F) &t gfaRTel & Aol 7 FUTRAT ot A0 H WRehcdl I AN & | TUTRAT A TATTAR Power factor 18-19
improved in AC circuits? series in series in series in parallel FHY g TIT ST GhaT &2 FIECTY IECTY IEC T IEC T
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23[What is the formula to calculate the three P=3V,I_Sino P =3V, I CosO P=./3V, | Sind _ el e Aish AT (P) T IO et P=3V_I_Sine P =3V, I CosB P=.3V, I Sin6| p- 3 phase power 20-21
phase active power (P) if the line voltage BV P= \/?TV L I Cos® & v gaFaT §, IS ange areest (V) BV P= ﬁv L I Cos® measurement
(VL) and line current is I, and phase angle 3R BT 9T (1,) § 3R FHer HIoT'0 §?
is ‘0’7
24|What is the relation between the line I =1Ip L, =31p IL=V3lp I, =1p N3 3ol @ 3 [aeed 7 st e (1) AR I =1Ip =31 IL=slp I =lp N3 Star & delta 20-21
current (1) and phase current (lp) in delta BT FE (Ip) & ST FIT HEET &2 connection
connected system?
25|What is the purpose of phase sequence | To control the speed of 3 | To protect motor against | To indicate the incorrect | To ensure the correct  |&ell AIehH HICI &I 3027 FAT 72 3TUT AT R AT | AME Fihe el & | 3 =0T oh ITeld @ROT | 3 =0T YOTIH & Fel 3 phase 20-21
meter? phase motor short circuit fault phase sequence of 3 phase sequence of 3 1 AT e & fov | fEems ey Hr @ & | sgma sfig we TOT 35 T fundamental
phase phase system IGIY & fow glaRad s & faw
26|Calculate the apparent power of a star 12.45 KVA 57.50 KVA 3.320 KVA 7.188 KVA Th &R A g% 3 el AR T JTHTEY 12.45 KVA 57.50 KVA 3.320 KVA 7.188 KVA 3 phase power 20-21
connected 3 phase load, if it is connected QITEFeT T ITUTAT Y, IR g 0.8 ATl measurement
across 3 phase 415volt/50Hz supply at 0.8 I[UTh UX 3 Shell 415volt / 50Hz mﬁﬁ
p.f and the phase current is 10 Amps. JI3Te IR BT URT10 A B
27|What is the P.F if one of the wattmeters 0.5 Zero Unity Below 0.5 3 el ATl H1Y H 2 JeHIe e & 7 0.5 Zero Unity Below 0.5 3 phase power 20-21
reading is zero and the other reads total T FfE T Y IaFih g R g measurement
power in 2 wattmeter method of 3 phase Gud I3 &, ar AfeFd 0T F4T 572
power measurement?
28|Which electrical term is defined as the Resistance Impedance Admittance Susceptance Tl FATATR GRYY # GRT o Fof fay gfeRTe FIGEIC wstHcH qEH AC fundamental 18-19
total opposition to current in AC parallel & &9 7 fre [Aegd ereg &l TR
circuit? 2T ST 872
29|Which AC circuit contains the phase Pure resistive circuit Resistance and Resistance and Resistance, inductance [fh& AC IRTY & aleeet (V) iR e () | Yg TN IRy | 9icRkier vd WRehed gfoRIy vg ek | 9foRie, YRehed Td AC parallel circuit 18-19
relation between voltage (V) and current inductance circuit capacitance circuit and capacitance circuit |& ST ST el T BT &7 giger gRger TR gRger
n?
. T
30[In a 3 phase system, if the active power is 1 KVAR 2 KVAR 3 KVAR 4 KVAR 3 Sll JUTTell H, TS AfhdT ATFT 4 kw § 1 KVAR 2 KVAR 3 KVAR 4 KVAR AC RL series circuit 18 -19
4 kw and the apparent power is 5 KVA, 3R 3ot T 5 KVA &, ar
calculate the reactive power? gfafsrarefrer erfea $r aroEr
FY?
31{In which condition resonance will occur in | Inductive reactance (X,) | Inductive reactance (X,) | Inductive reactance (X,) | Inductive reactance (X,) |3R-Te-&Y S0l aRaer 7 fha afa & TR ufaerd (X)) | IR afdard (X)) | SR gfaerd (X)) | 9ReR gfaerd (X,) 3 phase power 18-19
R-L-C series circuit? is zero is equal to capacitive | is greater than capacitive | is less than capacitive  |3{e=TG gIamT? L aE TR gfaErd (Xo) | e ufaera (X)) | arfe afaera (Xo) measurement
reactance (X¢) reactance (Xc) reactance (X¢) F Y T HRFHE AFAE
32[How will you obtain positive reading in the By interchanging the By disconnecting the By reversing the By reversing the pressure |3 &velT al dTC#Ie faTe & dTceet & 3T FRT & TSI | URT F5ol 1 eI H | FeY # gard el & | HeX A ga1d Series resonance 18 -19
wattmeter reads negative reading during 3-|  connections of input | connection of current coil | connection of pressure coil and current coil  |RUTIcHS JTGieh ool I 31T Helcaeh NI AT R | AEATTRA R | TS dgoled | IR Ry &
phase two wattmeter method? terminals in meter coil in meter connection in meter  |ITST A UTCd HYar? TSI Feelel W
33|What is the form factor (Ky) for sinusoidal 1.00 111 2.22 4.44 ST THT o ToIT e therex (KF) &7 1.00 111 2.22 4.44 3 phase power 20-21

AC?

g7

measurement
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34|What is the reciprocal of inductance in AC Reactance Admittance Conductance Susceptance T TAGTCR IRIYT H Yehcd I EIGEIG] wsSHEcH ATelhdl qreeH AC - terms 18 -19
parallel circuit? IREARE FaT &2

35|What relationship is illustrated in between | Current and voltage are [Current and voltage are in | Current lags behind the | Current leads ahead of |&TRT Ud alecol o HET el T TFawe 4R U dlecs FH | €RT U dleest shell H | ORI, dlecsl IS [ ORI, dlecst & 3T RLC series circuit 18 -19
the current and voltage? “in phase” out of phase voltage the voltage gl I &2 FATHE ERES wTg EAE

0
- B

36|Calculate the total power by two wattmeter W, x 2 W, only W, - W, W, + W, Y areHIeT (W, & W,) Tafer garr g W, x 2 FHad W, W, - W, W, + W, RLC series circuit 18 -19
(W, & W,) method, if one of the wattmeter I Y ITUTAT &Y, TTe Ueh AICHIET
(W,) reading is taken after reversing. (W,) 3T 3eteat & a1g off STl 8

37[In which 3 phase system, the artificial 3 wire star connected 4 wire star connected 3 wire delta connected 4 wire delta connected |&lsT T 3 el HUTN &, ol dlocol Y 3TRER AT | 4 TR ER TAST | 3dR Secl GANSId | 4 IR Secl ST 3 phase power 20-21
neutral is required to measure the phase system system system system A & folT HTAA 3T dr T oA e oA aeea measurement
voltage? TR 8l §7

38|What is the line voltage in 3 phase system 380 Volt 400 Volt 415 Volt 440 Volt 3 ol [AECH H ITe, Tl alecl 240V &, 380 Volt 400 Volt 415 Volt 440 Volt Neutral in 3 phase 20-21
if the phase voltage is 240V? Y TS rec AT gem?

i i . a§$aq 2 -
39 :’;’:{g:‘({?;z‘u'a is used to calculate Form _ Effective value K, = Avera'ge value = Effective value (= w 1ot (K) FT AT & Effectivevalue _ Average value _ Effective value Average value S:g;fegggs 20-21
f f = Average value Effective value Maximum value Maximum value f ~Averagevalue | ' Effectivevalue " Maximum value | K¢ =y —rro oo

40|Which formula is used to calculate the 2 2 P _ - P > |RLC 88T |fhe & Tiaemer () Fr = ~ AC - terms 18 -19

impedance (z) of a RLC series circuit? Z=R?+(x, ~x )| Z=yR?+(x ~x,) Z=yR + (a0~ xc) Z=R*+(x, ~x) TOTSAT XY 3 FIT R GT 7 39T Z=R% +(x_ ~x. ) Z=\R%+(x ~xc) [Z=R +(x, ~x.)| z= R2 +(x, ~x
T STaT §7

41|What is the power factor if one of the 0 0.5 Unity Less than 0.5 3 thsf 2Ifebcd AT T & dleaiex Tt & 0 0.5 Unity Less than 0.5 RLC series circuit 18 -19
wattmeter gives negative reading in two e T areHIET FUTcHS TS &l ¢,
wattmeter method of 3 phase power ar uraR therex T 72
measurement?

42|What is the phase displacement between 90° 120° 180° 360° 3 Shell THT IRIY H ShellcR [ohclelT 81T 90° 120° 180° 360° 3 phase power 20-21
phases in a 3 phase circuit? g7 measurement

43|Which condition is called as resonance X, > Xc Xe > X X, = Xc R < X, e et &1 31e]=T16 RLC |fehe Fal XL > Xc Xe > X, X, = Xc R < X, 3 phase 20-21
RLC circuit? ST §? fundamental

44|Which quantity is rotating at a constant Scalar quantity Vector quantity Phasor quantity Algebraic quantity 8RR TI[oR ATTAET H Fohcet GR&ATOT i Tholk TIRATIT e IRATOT HE GRATOT 3TATSITsieh TRATOT Series resonance 18-19
angular velocity? gouTaar 82
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Name of the Trade - Electrician 2nd sem - NSQF - Module 1 - Cell and Batteries

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Level Topic of Week No of
syllabus the Syllabus
1|Which device converts sunlight into Photo voltaic cell | Liquid crystal diode | Light emitting diode | Light dependent  [&@lsT & ITehd ¢ A faggd a1 & hiet dlecss ddl CIECEAE RGERIE dI5e UIATIT S s wse f3Use YReX A 2 Solar cells 27 -28
electrical energy? resistor eIl 872
2|Which law secondary cell works? Lenz's law Joule’s law Faradays laws of Faradays laws of |gfadiae O 8 foae § & axd 7 oot &l [agH e & o s & faggd sued (s FRegageda | C 1 Secondary cells| 27 -28
electrolysis electromagnetic CaRELE UROT T foTa T
induction
3[How the capacity of batteries is specified? Volt Watt Volt Ampere Ampere hour  |SIET ST &THAT Sl IdTS SITAT 872 drec ae dlee TFRR TFRR gel D 1 Secondary cells| 27 -28
4[What is the name of defect that bending Buckling Local action Partial short Hard sulphation |38 &1¥ & 1 Sc3T, ford HROT A EEacE TUTA foraT I g I FOR Tothled A 3 |Maintenance of | 27-28
of plates in secondary cells? gl A 7 wele {3 e 8- batteries
5|What is the unit of electric charge? Volt Watt Ampere Coulomb Taega 3maer & 31 31 2 drec ac TFRR A D 1 Primary cells 27 -28
6|What is the output voltage of lithium cell? 1.2V 1.5V 1.8V 25V T Al T AT ATecaT [ehellT 21T 1.2V 15V 1.8V 25V D 1 Primary cells 27 -28
&2
7|What is the method of charging if the Initial charge Boost charge Trickle charge Freshening charge [&& T#HT & 3Td &I & oY 3MATAd IR 3maer EGERIEE el 39T OhTR=T9T 3T LT B 2  |Battery charging| 27 -28
battery is to be charged for short duration T g st dY FAfer o=y St 82
at higher rate?
8|Which electrolyte used in carbon zinc dry | Dilute sulphuric acid | Ammonium chloride |Potassium hydroxide|  Concentrated T STET S ol H el AT g d ] TR R 315 IANATH FARSS QICTAIAH EIS3IFAISs | ¥log HoWgXeh Fel B 2 Primary cells 27 -28
cells? hydrochloric acid ~ [379ere 39TeT fohaT ST £2
9|Which effect causes by passing electric Heating Lighting Magnetic Chemical gal A T9egd ORI gaTied glell el ar A gerefr FFIHI T ToTeh D 2 Primary cells 27-28
current in liquids? g &7
10{Which material is used to make negative Lead dioxide Sponge lead Lead peroxide Lead sulphate [T 373 eT Je{I H FUMcHS Tolc ST o8 SAEAES TqTT grar EERRERIEE] oIS Tothe B 2 Secondary cells| 27-28
plates in lead acid battery? &g i |1 vard ST grar £
11{Which technique is used to control the Anodic protection | Cathodic protection |Electrolytic protection Electrostatic T TAE o &TX0T o (130T & el AT AT gIaT TS gIan SolFgifafes gat TEUX Taegd gat B 3 Electro plating | 27-28
corrosion of a metal surface? protection TRATHIINIT BrciT 872
12|Which cell is most often used in digital Voltaic Lithium Mercury Silver oxide Bioca a3t & g Fia ar ad diecsh ICIBEE qRT ea] 3earss C 2 Primary cells 27-28
watches? TN9T It 872
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13|What is the effect if one cell is connected |Voltage become zero| Become open circuit Will get short No effect will THAR GIAA TRIY H TG Th AA hl | dlecs YrA 8 SN | Tl TRAY gT SIRpam A8 ARET | g TG ofeT, e Grouping of 27-28
with reverse polarity in a parallel circuited function normally  |Taord g & arer @RS R aw, TG J I HIT cells
combination circuit? ar T GHIT BIm?

14|What is the function of fine selector Selection of current Selection of Selection of voltage Selection of S 3MAAF H PI5T ToFed [&ad HT R YT T T A AT HI AT | Alecsl WH HI AT | 3TARAT [T T AT Battery charging| 27 -28
switch in battery charger? rating charging time range charging method  |&FaT &1 &7

15(What is the effect on output power with | No effect on change Increases with Decreases with Decreases with |G &l 7 dTIHATA & Hecdl H foldld ATYHAT & IS TG A81 | T9HATA & gIg & AT | GH & gig & T | T9HT & hall & qreg Solar cells 27 -28
respect to temperature in solar cells? in temperature increase in increase in decrease in I IR T TSTT gam? aﬁ: FHAT AT

temperature temperature temperature

16[{What purpose the hydrometer is used Determine the AH | Assess the battery Assess the Determine the [ & AT & AT gIS3HC HI Ah &TAAT fTRT et STl dlecs TR 8 1 R TR Tdegd 3raeeT & Battery charging| 27 - 28

during charging of battery? capacity voltage level discharge level of | specific gravity of  |&FaT 382 &2 g ¥eTerst 8 eTerst 8q fafrse apeca faefiia
battery electrolyte T H

17|What is the formula for Faraday’s first law M = Ziit M = Zit M=it/Z M = Zt/i T2 & faggd 3rveed & yaH [Fgd & M = ZJit M = Zit M=it/Z M = Zt/i Primary cells 27 -28
of electrolysis? gIFTR?

18|Which is used as an electrolyte in lead Hydrochloric acid | Ammonium chloride | Potassium hydroxide |Diluted sulphuric acid [T 3/l ¥l # 9 d JTECT HI TRE | FToITFalleh 31FcT AT FARESS qeiRIe gEgeass o] g R 31T Secondary cells| 27 -28
acid battery? FIT 3TN fhaT ST &2

19|What is the total voltage of the circuit? 1.5 Volt 6.0 Volt 7.5 Volt 9.0 Volt IRTY 1 Fol Aeco FAT 572 1.5 Volt 6.0 Volt 7.5 Volt 9.0 Volt Grouping of 27 -28

cells
o o - i

20|What is the outcome at the positive plate, | Sponge lead (Pb) [Lead peroxide(PbO,) Lead Lead sulphate + [T 31FeT Tl T AT ST THTTeh TITST &5 (Pb) o8 WFAEs (PhO,) oIS Hethe (PhSO,) S Tothe+ STl Battery charging| 27 -28
after the chemical reaction in lead acid sulphate(PbSO,) water TRaT & ERTeT Y=TTcA Tolc U T
battery during charging? TATT?

21{Why the vent plug is kept open during Toescape the gas | To allow oxygen [To check the level of | To check the colour |3 & 3TARIeT & &RTel A TofdT 1 Gl | 31T bl TaciIcTq@sh | HTFEToTeT bl 3ee 37T | Taegd ey &l TR | Tele i T Seelall Siread Battery charging| 27 - 28
charging of a battery? freely enter inside electrolyte changes in the plates |F3T T@T SATAT §? e Aemelst 8 COR ST

22[In which method the battery is charged at | Rectifier method Trickle charging Constant current | Constant potential [&isT T [ATS & ST T HHA GRT W oo s eseahny fafer el AT fafy foga arT fafey g fgera At Battery charging| 27 - 28
low current for long period? method method method AT A AT FoRaT ST 872

23[How the hard sulphation defect in lead Changing with new | Replacing with new Recharging the Recharging the  [HIHT 373l 3 A FoN ehT AN Al | oAU [degd ATUCT A | AT gAFcIs A daolad | Scdl 1 &l U A oFa | Sedl 1 3Tt a1 & Maintenance of | 27 - 28
acid battery can be rectified? electrolyte electrodes battery for a longer battery for short |3 SIT=T ST &2 EEreny AT T o AR FH AT d Ja1: batteries

period at low current | period at high current FHh At

24|Which material is used as cathode (-ve) Zinc Copper Carbon Silver oxide Taear 3TFATSS ST H Hiel AT IG1 STEAT GIED FIeeT ey 3TFaEs Primary cells 27 -28

electrode in silver oxide battery? FHUZ(-ve)Sorarels ST aRE 3TN fhar
EICIY
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25|What is the Electro Chemical Equivalent 0.001182 0.01182 mg/coloumb| 0.1182 mg/coloumb | 1.1182 mg/coloumb [TTET & Fegd TAT=E Jedid #2182 | 0.001182 mg/coloumb | 0.01182 mg/coloumb | 0.1182 mg/coloumb 1.1182 mg/coloumb Primary cells 27 -28
(ECE) of silver? mg/coloumb
26|What is the outcome of the chemical Sponge lead(Pb) |Lead peroxide(PbO,) Lead Lead sulphate + [T 37T Tl I [ARTALNA T TAI (AR TS &S (Pb) oI5 WSS (PhO,) o8 Aothe (PhSO,) oIS Hothe+ STl Secondary cells| 27 -28
reaction that takes place in negative plate sulphate(PbSQO,) water ToRIT & ERTeT FUTcHS Tolc IR 4T
of lead acid battery during discharging? 3TRPM?
27|What is the purpose of separator in lead  |[To provide a path for | To hold the positive | To avoid shortin |To keep positive and [T 31T Se1 # Ta3TToTeh 1 a1 3597 [fae gl TTUCT & I | UellcHsh Ud RHUNcHS | elcHe Ud RUNcHS | EellcHsh Ud RUcHSH Lead acid 27 -28
acid battery? electrolyte and negative plate |between the positive | negative plateina |g§? Tl el CACT I IS U ThS | Told & ALT THUYA | Tolc ol eFa e Tlish battery
firmly and negative plates | sequence array gl HGEEET 3@
28|Which instrument is used to measure the Barometer Hydrometer Anima meter High rate discharge [T 3/ et sedT & [fRIse Geica ATI R EEIE TR AT Hex 379 &< R ere eFex Battery charging| 27 -28
specific gravity of electrolyte in lead acid tester %Tj ST T IUHOT T TI1T T 7T &2
battery?
29|Which type of inverter circuit? Driven inverter SCR used inverter | Single transistor Two winding Zraex URYY i AT &2 39 sracx SCR 39 3wacY | Udhdl TIoTEER Swadc 21 FBole MBI Battery charging| 27 -28
inverter transformer inverter SeaeY
TEAS R
4 3]
30|What is the effect of buckling defect in a Bending of the Reducing the Making short Increasing the [T 31FaT J{T & SehTolaT 1Y T T SoiacIsl FT A3 AN |[Aegd 396cy &1 ATHd | Solacis! & AL o[ AR gy 7 g Maintenance of | 27 - 28
lead acid battery? electrodes strength of electrolyte between the internal resistance |eTTd U= &7 T e gl AT batteries
electrodes
31|What is the total output voltage of the oV 15V 3.0V 45V IR FT ol eI Areco FT 52 ov 15V 3.0V 45V Grouping of 27 -28
circuit? cells
-3
R
15V 15V 15V 3
32|Which is used as a positive electrode in a Zinc Carbon Copper Lithium Y Hel H UeATcHS Folaels & &9 7 STEAT HTeeT GIED EiBpe Primary cells 27 -28
dry cell? FIAT AT BT 87
33|What happen to the terminal voltage of a Increases Decreases Falls to zero Remains same  |#R 91 WX Il & [ART & dlecal H FAT EET eI [+ oo TaRET AT Tgal Secondary cells| 27 -28
cell if load increases? gram?
34|How local action defect is prevented in By connecting cells By using a By connecting cells | By amalgamating [dTecse Tel 7 TN ShaT IS & 8 | Tell 1 AUN H AN | [IYaHh Toieh I 39197 Tell I FHATTR A STET TolT T HTITH Primary cells 27-28
voltaic cell? in series depolarizing agent in parallel the zinc plate YT ST 872 Fh e Tafad w Fh
35|What does the letter ‘Z’ indicate in the Time in seconds | E.C.E of electrolyte |Amount of currentin | Mass deposited in [M=2/it 3 # 'Z' 38R & 1d X1 872 THI, b A 96 d 3r98¢T &1 ECE YRT, TFRR A ThiId GeddTed, A H Primary cells 27-28
formula M=2/it? Amp grams
36|What is the Electro Chemical Equivalent | 0.329 mg/ coulomb | 0.329 g/ coulomb |1.1182 mg/coulomb| 1.1182 g/ coulomb aﬁmﬁagamﬁasqmw%? 0.329 mg / coulomb 0.329 g/ coulomb 1.1182 mg / coulomb 1.1182 g/ coulomb Primary cells 27-28

(ECE) of copper?
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37|Which is the cause for buckling defect in Overcharging or Charging with low Formation of Battery is keptin  [&aT TAS S & Shfolel QW I HROT | (I Ima= A 3fa | o1 3109 & v &7 ol & IRy arel S T oI THI h Lead acid 27 -28

lead acid battery? over discharging | rate for short period | sediments falling |discharged condition |slsT & &2 IGRECKG] X & T Tl FIET 37ITTGT T STaTl R fufa & w@r battery
from the plate for long period ST

38|Which apparatus is used to check the Voltmeter Multimeter Hydrometer High rate discharge [¥edl & alecst ST TTToTT (€Y o ST drecHe Aol EEIE: 60y 379 &X AR e&ex Battery charging| 27 -28

charging condition of voltage in battery? tester Fel o forw fovg 39T T 3TN fohar
ST §?

39|Which part is losing electron during Cathode Anode Electrolyte Separator SAFIATIH o aITeT ehieT AT FEAT Fos 38 faegd 3eey [CEIcED Primary cells 27-28

electrolysis? FolareleT T TET 872
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Name of the Trade - Electrician 2nd sem - NSQF - Module 2 - Basic wiring practice

Question OPT A OPTB OPTC OPT D Question OPT A OPTB OPTC OPTD Ans Level | Topic of syllabus | Week No of
the Syllabus
1[How the conduit pipes are specified? Length in metre Wall thickness in mm | Inner diameter in mm | Outer diameter in mm [F=3gc U89 &8 AGST [T ST &2 TS, Al A |GIAR T Aers, [T | 3dRe oarg, e | segaam, @& a | D 1 Metal conduit 29-32
) =) wiring
2|What is the fusing factor for rewireable fuse? 1.1 1.4 21 25 . IR T 19T TS & [T T foidl 11 1.4 21 25 B 1 Fuses 29-32
FITE?
3|What is the purpose of underwriter's knot Avoid loose Increase mechanical |Prevent excessive cap | Reduce the strain  [JSE 8ot HToTel & 1T SRS i MG | STl AAToTAl A qraiTd | TTT3eh AT A g | 3Tcd T Y hax | HHAT & cietatoll & D 2 Wiring 29-32
for pendent holder connection? connections strength cover pressure from the terminals of |&T 38T FAT§? EaTd Y Jehell RLICET KTy accessories
accessories
4|What is the type of fuse? Knife edge cartridge High rupturing Ferrule contact Diazed screw type | Shiel 8 TR I &7 qg R FIe TS| &1 Yo R3T 8THAT | el HAITah Hleol | 398 Ud TR B 2 Fuses 29 -32
fuse capacity fuse cartridge fuse cartridge fuse ST T FIeST L)
|
5|What is the name of electrical accessory? Bracket holder Edison screw type Angle swivel lamp | Goliath Edison screw |faggd aTHal &7 1A #T § Fhe gloat TTSHA & THR FI0T Reader o | anforey ufsae &g B 1 Wiring 29-32
holder holder lamp holder o glosy o7 glest accessories
i
6|What is the name of symbol used in wiring Link Fuse Pull switch Plug and socket JRIRET TR F T Fd T I ATH T § IGED A g e oofa1 3R AT D 1 BIS symbols 29-32
circuit?
7|which type of load is protected by the L- Motors Geyser Hand tools Air conditioner L-30ff MCB & @R fohdl TR & I Y AeX iy & 3R g AF B 2 MCB 29-32
series MCB? gfara o Jrar &2
8|Which type of switch is used in the circuit? One way switch Two way switch Intermediate switch | Multiposition switch | YR T ad TFE A IUTTIT I &7 Tehdl g &g ar g &ag SrelAIeaC ad | Accioere ad B 2 Types of 29-32
domestic wiring
9|What is the effect of low current rated cable |Voltage drop increases |Load current increases Voltage drop Cable damage due to [&eT &TRT I3 haldl T 3T YRT HR A SN qlecst 9Td 9631 TR TRT F¢efT dleesl ITd TSI | ITHT & HIROT halol D 3 Types of 29-32
used to connect higher current load? decreases heat FIT IHTT g2 kepie) domestic wiring
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10{What is the name of the conduit accessory? Solid bend Solid elbow Inspection Bend Inspection elbow  [Fe3gc ATHIAT T T ATH g2 Rk o Tedl foreTor 53 TRI8T0T Tear Metal conduit 29-32
wiring
Q Y

11{How many two way switches with 1 2 3 4 HEITH 1Ead o TTY Tohelal ¢ 3 e Teh ofq 1 2 3 4 Types of 29 -32
intermediate switch are used to control one Y cfief 3Te1aT-37619T TUTeAT F AT et & domestic wiring
lamp from three different places? T 39T fFT A1 82

12|What is the advantage of concealed wiring? Easy to maintain Less voltage drop High insulation Protection against |h&Tes aTARaT T FAT HIICT &2 THTA H 3T SHdlecA I9Td | 3T WE@I B3] EEiE) gIam Types of 29-32

resistance moisture domestic wiring

13[What is the fusing factor for high rupturing 1.0 1.1 1.4 1.7 HRC w31 8 ¥ foia1 I uTieh T 2 1.0 1.1 1.4 1.7 Types of 29 -32
capacity fuses (HRC)? domestic wiring

14|Which type of relay can be operated at both Ferred relay Thermal relay Impulse relay Dry reed relay f&a 9o & Rel 1 A.C 31K D.C gt 7 s Rel FeA Rt 339 Rex 315 s Rar Fuses 29 -32
A.C and D.C? Fraford foma ST el &7

15|What is the name of the accessory used in 2 Pin plug Three pin plug Iron connector with Flat connector with  |faggd 39eroTt 3 Y aFd AT o1 & AT 2 e St et O CoreT [N ST S Ty e | F9Te AU Y Relay 29 -32
electrical appliances? direct entry side entry &2 BpIED e TSI

16[{What is the name of the accessory symbol? Bell push switch Two way switch One way switch two | Multi position switch [TTHaIT Sciieh ol AT FT 2 e g2l fea=r T3 Rag A a1 d [faa | g Al Tahel ¢ Wiring 29-32

poles single pole Raa accessories

17|What is the purpose of the flexible cords in Concealed wiring | Permanent connection| Run cable through Connection ERE dRT H TdTell dRT ol 4T 3837 §2 AT arafer AT FASTT AT A Ve F | gradETe 3T BIS symbols 29 -32

domestic wiring? holes in ceiling transportable HATETH § Shadl Ty Tl
appliances

18[Which type of circuit breaker is used above Miniature Circuit Earth Leakage Circuit | Moulded Case Circuit Residual Current  [f3r& IR $75Teh T 39T 100 A ORI | ATTIR Tfhe s | AT ikt Afche | Aless 1A ARC | 31TAY 8RT Tlhe Types of 29 -32
100 A current rating? Breaker (MCB) Breaker (ELCB) Breaker (MCCB) Circuit Breaker (RCCB)|& 3w foram Smar &2 EETY SHT SHT domestic wiring

19|What is the purpose of tin coating on copper Withstand high Increase the fusing | Prevent oxidation of Increase the AT & Pl dR W [Ce HITeaT &l FAT 383 | 3o dTIAT ool | PRI qOMH A Jheg | oS & R T AT eFd A Jg MCB & ELCB 29-32
fuse wire? temperature factor copper wire mechanical strength |§? 3TFERIOT kel

20(What is the name of the four insulated Pair Core Quad Layer IR Wﬁ TATeThl B HFHE pTI T ATH 2 KIE] EaE EEIES QId Fuses 29-32

conductors group?
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21|How many two way switches are required in 2 3 4 5 IR ﬁq.ﬁ AT e o fow aMere arrier 2 3 4 5 29-32
godown wiring circuit to control four lamps afire & fhdey & ae F Taa maegs §

22|Why tree system of wiring most suitable for | Easy load balancing Constant voltage Offers minimum Easy in fault finding  |5g #HSTen AR & eI aRT & &1 Jomelr 3T 3R TJolel | 93 alecol [aoRuT | 7 dlees! uTd | % Fsl & A ey Types of 29-32
multistoried building? distribution voltage drop with many fuses  [G® 3ugad &1 §7? glaT o H EXerdr domestic wiring

23|Which is used as a filler material for fixing Paper Nylon Cement Poly vinyl chloride  [EiTelaT 7 g T O 8=l 8] #RT1d T&Td o FETA AT ATl HdHe el [aATS e FERISS, Types of 29-32
screw hole on ceiling? O H fFgent 39T fohaT STaT §72 domestic wiring

24|What is the symbol indicates? Table fan Ceiling fan Bracket fan Exhaust fan g Uciieh &7 2T 82 AT q@T EnEakere She q@r [GETRrC]] Types of 29-32

domestic wiring
£
3
25|What is the name of the relay? Impulse relay Dry reed relay Electromagnetic relay Mercury wetted Y 1 AT FAT £2 339 Rer 315 5 R faegd gras Rer | IRT el G4 Rl BIS symbols 29-32
contact relay
A v a— N
==
26|What is the name of the diagram? Layout plan Wiring diagram Installation plan Schematic diagram  [3TR@ T T AT §7 A3 ARG arIReET ARG FATIAT ANToAT rolATeg IRG Relay 29-32
i

27|Where the Iron Clad Double Pole (ICDP) Large industrial Control main or Single phase domestic | Three phase power [ICDP H&J & &l 3UANT gl [T Il &2 |93 eAemh T AT ATET IRYY [Tehel Prof T, i Tt fda Types of 29-32
main switch is used? installations branch circuits installations circuit installations TATYAT & fA=z=oT TATYAT gfaer TmgET domestic wiring

28|Which electrical accessory belongs to Fuse Ceiling roses Intermediate switch | Pendent lamp holder [®l=T &Y faegd AT&all, AT & Q& LoEl @ferer AT gexARve g 93c ol glest Wiring 29-32
general classification of accessories? FaffepeoT @ Teafaa g7 accessories

29|Which is the application of DC series MCB? AC motor DC motor Locomotives Air conditioners  |DC #@eT MCB &T 5141 hief T &7 T Al 3 A AT EIGIGCEL Wiring 29-32

accessories

30|What is the term for the time taken by a Time factor Fusing factor Cut-off factor Fusing current  [GIY 3 HTehe &1 STTEId el o [oTT Tl GaRT HAY T[0T W fotel auTeh T 3% 0T W fotel T MCB & ELCB 29-32
fuse to interrupt the circuit in fault? o /T §H g FAT 82

31|Which place the Tree system of wiring is Godown wiring Industrial wiring Domestic wiring Multi storied building [ar=IReT &1 & FaFea fovd T R T e araRaT ezt araReT e AT g Al s1at Fuses 29-32
most suitable? UG FAE?
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32|What is the maximum PVC conduit size to 12 mm 19 mm 25 mm 50 mm GIaTd 38T Al & ToIw drdET sell sl 12 mm 19 mm 25 mm 50 mm Types of 29-32
make safe cold bending? 31T ITPR FATE? domestic wiring
33|Why separate wiring is recommended for Avoid electrical fire Reduce power loss Avoid electrical Maintain voltage level [T fITeX g 3R qreR araReT & fow TSI BT 3MT @ | A1 gTfet e hetr | TooTell & eafdeRioT | dlecst TR 2R Types of 29-32
home theatre wiring and power wiring? interference constant 37e19T arafer it RAwIer 4t T St &2 CEIcC) aad FATT W domestic wiring
34|What is the name of the lighting circuit? Tunnel lighting wiring | Corridor lighting wiring | Godown lighting wiring | ~ Staircase lighting [T aRT2r & o =17eT &2 GO YRRI AR | AR Gehrer | aeTe Teher arIRer | He SJehrer arriar Types of 29-32
wiring Frafar domestic wiring
H
35|What is the tool used to bend conduits? Hickey Coupler Pipe vice Bench vice FSGC ! AISeA & [T Tohd ITHIOT I EED FIR EIEEEIES EEEES Types of 29-32
39AreT T ST 82 domestic wiring
36|What is the expansion of MCB? Minute Control Breaker Miniature Circuit Minimum Current Maximum Current  |MCB 3T [a&dR Fa1 82 Minute Control Miniature Circuit Minimum Current | Maximum Current Metal conduit 29-32
Breaker Breaker Breaker Breaker Breaker Breaker Breaker wiring
37|What is the purpose of ELCB? Detects the faultin | Monitors the residual Protects the Protects from short |ELCB T 3327 FaT 87 IRTY H Y @il | ATAT URT Hl &1 | ITAHR & 3Th0T TUA T ITRIOT MCB & ELCB 29-32
circuit current equipment from over circuit fault T GIETT R & TR &
load
38|What is the purpose of the fuse cut out To ensure the line is To maintain the To protect the circuit | To protect the human |31TeTd fSsTell 3T & Yelel *hU 31T WS e | T %ﬁﬁ?ﬁ Fel & | [TW Y[ dleesl |Alhe Hl alichal AC | dlich S&Te &l MCB & ELCB 29-32
provided at the incoming power supply? not over loaded stabilised supply from the leakage beings from electric [T 323 FAT §? o ems=t FATT I@ & forw T ¥ & forw IEECIE T C k]
voltage current shock AR AgT g ATAT ST Fh
39(What is the use of die stock set? Cut external threads Cut internal threads Cut external threads Cut internal threads  |3TS Tcieh Tc T AT 3T &2 FINFR IIsT F ST a?—lﬂ'l'cFIT BT R | SelellhR Ji8q 9 JTAATPR 9159 W Fuses 29-32
on square pipe on cylindrical pipe on cylindrical pipe on rectangular pipe U3 HICAT IARF IS HICT | SEA IS FICAT | 3ARE IS FIeaT
40|Which classification of accessory the ceiling | Outlet accessories Safety accessories | Holding accessories | General accessories |ToiaT Jf oY FTHIT & [hd JalTHIOT 7 [GEGEIEDH GI&T HHA ETesdT AT ATHAY T Metal conduit 29-32
rose is classified? gaffepa fomam T §2 wiring
41|What is the purpose of the circuit diagram in | To show the physical To estimate the To inform the reader To show the TRIRAT STeleleled H IRIY 3R FI 36T arFEh i Jifds afhe & Affe TS% Al Sfeal & | el [ATTSe 1 & Wiring 29-32
wiring installation? position of accessories | various accessories in | quickly what for the | schematic connection |&aT &2 Teuf fewe & fore | aea & 3 | gRa s & foe e afée &t accessories
the circuit circuit is designed of the circuit for a T & folT & affe rafor | Aoseg s
specific task Bomsa R & @ & forw
42|Which electrical equipment is provided with General lighting Motors Air conditioner Halogen lamp 'L’ 4T MCB & |1 #hie § Tdegd 3qemor SR AT AR EIGIGET] golloteT ofa Types of 29-32
‘L’ series MCB? veTe fhT S g2 domestic wiring
43|Why the looping-back (loop in) method is Easy to identify the | No separate joints are More number of More number of sub- [ERe[ ATIRAT SECTeIRIT H ST (A FT) TS hT Tgalled hell | IS T W SIIST 1 |iTereh Tear A fuer | 378 aean # 39- MCB & ELCB 29-32
preferred in domestic wiring installation? faults used tappings can be taken | circuits can be made |fafr F4f gie Fr ST 2 A E 39T AT FomaT TR g |afhe AT ST Thd
ST g g
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44]What does the symbol marked ‘X’ indicate? | Number of wires run  [Number of switches to [Number of battern (or) [Number of clamps (or) [efRTa RiesT ‘X' &7 g_itaT 872 o o) ART 1 §&AT| Fodeke g1l oh ToT | deaT (IN) Ta A | Foid () fofera & Types of 29-32
on the limb be connected pipe to be fixed clips to be fixed g & gear HEIT AT HTAT HEIT AT AT domestic wiring
250 . |5)r 8?
600
X
\5 3 3 4%
;
Joint box method | Looping back method | Loop in method using | Loop in method using [arafXeT fafer &1 T =11 &2 HgaFd dieg At A AT |3 Tolc WToieT It I |2 Tole HlfeldT A Types of 29-32
3 plate ceiling rose 2 plate ceiling rose 3TN Feh [T 51 | STANIT ek o[ T 3T domestic wiring
e afar
46(What is the name of the wiring? Staircase wiring Godown wiring Hostel wiring Tunnel wiring IR T FIT ATH g2 T arafar MeTH araRaT gIECe arger G aIRET Types of 29-32
domestic wiring
S ;
d
47|What is the type of relay? Impulse relay Dry reed relay Latching relay Electromagnetic relay |Rer T YR &7 82 399 Rt EERERT] oirereT Rl faegd e et Types of 29-32
domestic wiring
]
48|Calculate the earth fault loop impedance, if 166 Q 1666 Q 16.66 Q 16666 Q H?i‘a’l'ﬂr G GTIETET T IT0TAT Y, ITe ELCB 166 Q 1666 Q 16.66 Q 16666 Q Types of 29-32
the ELCB tripping current is 30 mA? 9T A 30 mA g7 domestic wiring
49|What is the type of wiring? CTS wiring Cleat wiring PVC conduit wiring PVC casing and  |Jg GTIR3T &7 dhleT T YR g2 CTS araRet Follc aRIRIT  |PVC Fwsge araRar| PVC &% 3R Relays 29-32
capping wiring iR arafar
50|What is length of thread on rigid conduits as 9mm - 20mm 11mm - 27mm 13mm - 25mm 15mm - 30mm @H@F*EWWWEW Uz Fr 9mm - 20mm 11mm - 27mm 13mm - 25mm 15mm - 30mm MCB & ELCB 29-32
per BIS? TS FATR?
51|Which type of conduit used for gas tight Flexible conduits Rigid steel conduits Rigid non-metallic Flexible non-metallic [3ra eTse faTwics TUT9=T & v fvg g il Fesgc | FOR STId Fo3gC | FHoR Alcasm EEICECIRED Types of 29-32
explosive installation? conduits conduits T He3YC AT SYTNIT fohdT ST 872 F3gC FezgT domestic wiring
52|What is the function of circuit breaker? Making contact at Making contact at  |Breaking automatically | Physical breaking  [Tfehc o< 3T &1 T 872 A A A | e Rl A | e a7 | ey [t # Metal conduit 29-32
normal condition abnormal condition | at abnormal condition | contact at abnormal TUF FIT HYF FIT TAfd & d | s T T Tuh wiring
condition GIEGI GIEGI
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53(What is the function of bimetallic strip in Over load protection | Short circuit protection |Over voltage protection Earth leakage MCB # glatnicash 92T &l s &1 g2 FIGEEEERICH TYIAAGIET [T atecar @ gla7 379 Rama gam Metal conduit 29-32
MCB ? protection wiring

54|What protection offered by residual current | Protection from shock | Protection from over | Protection from short Protection from HITASE URT Fhe < GaRT FaT GI&T e @ &t TAHR | gan T FI&T ollehol URT § FI&T MCB & ELCB 29-32
circuit breaker? load circuit leakage current geT I ST 72

55|Which wiring is suitable for temporary Cleat wiring Concealed wiring PVC conduit wiring | Metal conduit wiring |31l ufasar=it & forw i & araRer Fhellc AR FHHles AR | NN Fesgc dNl | T Fesge aARET MCB & ELCB 29-32
installations? 3‘!’%&?—[%‘?

56/Where the phase conductor is looped in Switch box Junction box Distribution box Socket connection  [arIRaT & {91 FATCH H Uhof hsae I gl ag sieq ST died TaeRoT S Hihe TToTel MCB & ELCB 29-32
looping system of wiring? ST SATT 2

57|How many link clips are packed in 50 clips 75 clips 100 clips 150 clips f&heat foleh Ferd BIS 0@l & 38R 50 clips 75 clips 100 clips 150 clips Types of 29-32
cardboard boxes as per BIS rules? Frsas dieq 7 I fhe S 82 domestic wiring

58|What is the application of the wiring circuit? Two lamps dim Two lamps controlled | Two lamps controlled | One lamp bright and  [arrRar @féhe &T 3rg5Te1 a1 £2 &l o7 A TdTele T [ gary ardue fag | v oY Sodd 3R Types of 29 -32

operation only by one switch by two switches  |two lamp dim operation IGIEGEAKCL] gant fafEa & o7 FHe, TdTeleT domestic wiring
L L
4&—/ =
2 2

59(What is the reason for home theatre wiring | Avoid leakage current |Control temperature in Avoid electrical Reduce the power (g1 fTex araReT &I 9Tk T/ IReT & @y g1 T argRar | gl R¥ex araRer 3irsar, difsar ERCIEIRICGE: BIS symbols for 29-32

not to run along with power wiring? in home theatre wiring | home theatre wiring | interference in audio, | consumption in power |F& Tellel ST FAT HIROUT &2 Adrr e Aad | AT A9AE | Aeea A fdegd | s & @ud # wiring
video system supplies gEaaT o FA L

60|What will happen to the value of earth Remain same Increases Decreases Infinity e 312 U2y & o6 96 ST &, af 3T & AT R Erz Br 3TeTeadT Types of 29-32
resistance if length of the earth pipe is GfaRIer & ATA T FT grom? domestic wiring
increased?

61|Which types of accessories are used to Safety accessories Holding accessories Outlet accessories  |Controlling accessories|qeael 3UHIOT T TATTIT FlA & [T &t & /AT Tehsa A9 TTATT g g ICeESEIEICE Types of 29-32
operate a portable appliance? IR & TTHATT T 3TN HaT ST 82 domestic wiring

62|Which insulation is necessary for proper Double insulation Functional insulation | Reinforced insulation Supplementary 3fAd Fr 3R AT g7 & T Sl ar ST Fllelh FRATCHS FaTeleh gafeld grarelsh I Tl Earthing 33-36
function and basic protection? insulation PTeleh TR g7

63|Which type of accessories of fuse is comes |[Controlling accessories| Holding accessories | Safety accessories Outlet accessories | FgSt [ohd TR o ATHIS oh AT 37T 572 [EPEME T Uehsel A9 WA | GI&T & HIAT Toeta @ Wiring 29 -32
under? accessories

64|What is the expansion of ECC? Earth Conductor Earth Continuity Earth Carrying Earth Continuity Cable [ECC & [a&aR a1 §? Earth Conductor Earth Continuity Earth Carrying Earth Continuity Earthing 33-36

Continuity

Conductor

Conductor

Continuity

Conductor

Conductor

Cable
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65[Which type MCBs suitable for halogen ‘L’ series MCBs ‘G’ series MCBs ‘DC’ series MCBs ‘L"and ‘G’ series | gollolel 917 3 ToIT ahiel &T Feh TS ‘L’ @eT MCB ‘G’ @el MCB DC' #@eT MCB L' 3R 'G' g@en Wiring 29-32
lamps? MCBs IUGFAE? MCB accessories

66|Which type of lamp holder is used for the Edison screw holder | Goliath screw holder Angle holder Brachet holder ~ [300 @ & YR & ol o ToIT [ohd YR h old | TISHT TF &l | INTorgd Ud gles YT BesT Sihe gl Earthing 33-36
lamps above 300 watts? TR T 3TN THIT SATT &2

67|What is the expansion of AWG? American Wire Gauge | American Wire Grade | American Wire Group | American Wire Guard [AWG & Q¥R FaT 87 American Wire American Wire American Wire American Wire MCB & ELCB 29 -32

Gauge Grade Group Guard
68|What is the name of BIS symbol? Lamp Two way switch Intermediate switch | Multi - position switch [BIS Idieh & AT &7 §2 EE] TdfRag ScAISTE g 5g eufa e BIS symbol for 29 -32
wiring
69|What is the type of diagram? Wiring diagram Circuit diagram Installation plan Layout diagram  |3TR® T YhR FIT &7 araReET ARG IR 3IRE TUTIAT AT 33T 3IRG Types of 29-32

-

L1129

domestic wiring
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Name of the Trade - Electrician 2nd sem - NSQF - Module 3 - Wiring Installation and Earthing

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPT C OPT D Ans | Level [Topic of syllabus| Week No of
the Syllabus
1|What is the minimum size of copper earth 3 Sg.mm 3.5 Sq.mm 2.5 Sq.mm 1.5 Sg.mm STSTH o AR Tehel TROT T AR & 3 Sg.mm 3.5 Sq.mm 2.5 Sg.mm 1.5 Sg.mm D 1 Earthing 33-36
continuity conductor used in single phase e 312 fARARAT haFex T Y AdH TR FIT
domestic wiring as per BIS? g7
2|Which method is used to reduce earth Increasing the length Keeping wet Adding more sand Increasing the Hiel 318 G A/ 319 ufaiy A 1 A SIS I oidlg | €l & 1Sl # g | ISe A IR I AT | HSelwcrs dead | B 2 Earthing 33-36
resistance value in a existing earth? of electrode condition in earth pits |and charcoal in earth | diameter of earth |t o folT fohe TgTal T 3TAT fohaT ST B2 QT Ffrer Reyfa 7 T@er ARl ST Crac)
always pits electrode
3|Why A.C is required to measure the earth | Regulate the current | Increase the voltage |Decrease the voltage | Avoid electrolytic emf |37 TTcRTE TRT&Teh T U1 eh 1Y & TR | FRC T o1 aHaT Y recel ITd deT decd g get | faggamaeg faar | D 2 |Earthresistance | 33-36
resistance by using earth resistance drop drop interference I ATYA o foIT A.C Fr GLTRdT FT 82 ST I gl tester
tester?
4(What is the formula to find voltage drop Voltage drop = IR volt |oltage drop = 12R volt| Voltage drop = I/R volt|Voltage drop=IR/2 volt|A.C Tehel thef ARIRIT IRIY o dlecsl ITd ol Voltage drop = IR Voltage drop = ’R | Voltage drop =I/R Voltage drop=IR/2 A 1 Estimation 33-36
of a A.C single phase wiring circuit? AT T FAFATE? volt volt volt volt
5|What is the maximum permissible load 800 Watt 1500 Watt 2000 Watt 3000 Watt I.E Tl & 38R 9TeR 39-9R9Y & ferw 800 Watt 1500 Watt 2000 Watt 3000 Watt D 1 Estimation 33-36
for a power sub circuit as per I.E rules? HRIHAH AT AR FATE?
6|Which location the service connection IC cut out Main switch Energy meter Distribution board ~ [39&edT H&A As H FaT TATTT Yl hE TS e T3 &Y ead oA [ERrEEIE] C 2 Estimation 33-36
supply leads to be connected at T S8 872
consumer main board?
7|What is the type of test in domestic wiring Polarity test Continuity (or) open | Insulation resistance | Insulation resistance [ERe] aRIRET FATIAT # GXI&TOT T YR T §? T ST TR (1) el ToTehl & HET TTelohl Td A & A 2 |Testing of wiring | 33 -36
installation? circuit test test between test between a2y St FrelTeleh SToRIY Silel | HE Heileleh Tiaie installation
conductors conductors and earth S
8|What is the permissible leakage current 1/5 x Full load 1/50 x Full load 1/500 x Full load 1/5000 x Full load Wmmﬁﬁmmmw 1/5 x Full load 1/50 x Full load 1/500 x Full load 1/5000 x Full load D 1 Power wiring 33-36
in domestic wiring installation? current current current current ? current current current current
9|Which instrument is used to test new Multimeter Megger Shunt type ohmmeter | Series type ohmmeter [AT Tc] ATIRET TATIAT T ILT&TOT ol & [oIT AccIATR AR T IR INeH H1ex | A0 IR e A HeX | B 2 Estimation 33-36
domestic wiring installation? TR 3YHIUT T 3TN fHaT ST B2
10|What is the type of test in the wiring Polarity test Open circuit test | Insulation resistance | Insulation resistance [aTR3T TATIAT 7 TVETOT T ThR T &2 T ST Gl IR ST ToTehl & HET TTelohl Td A & D 2 |Testing of wiring | 33 -36
installation? test between test between FrelTeleh GToRIY Silel | HEF peileleh Tiae installation
conductors conductors and earth S
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11|Where system earthing is done? Generating station Electroplating Small industrial Domestic wiring | RIECH 31121aT gl [ehal il 872 STeRTEIT T2 [ECUGRECESIEE eI 3ieAeTH o] AT TATIAT Testing of wiring | 33 - 36
installation installation installation TUTIAT installation

12|What is the test to be carried out by using Polarity test Insulation resistance Earth electrode Earth conductor  [A9R &T 3YTNT ek T GL&TOT [haT ST 672 T ST FrdTereh AT 9] Selerels WIARIY ST| 8 dTeleh fd’dr Sl Earthing 33-36
megger? test resistance test continuity test LRt

13|What is the reason of lamp glowing dim Open circuit in the | Short circuit between | High value series Open circuit in the  [eRe] aAIRT Afhe A ofT THS TA IR A YT olleeT 7 Goll | dTelehl & ST g I | 3T AT A0 ARO[ 8 TGS dR A Telt Testing of wiring | 33 - 36
and motor running slow in a domestic neutral line conductors resistance fault earth conductor  |€fefr a1 & Tt 7 FaT FROTE? aiaer any afaer installation
wiring circuit?

14|Which wiring installation the System Substations Godown wiring Domestic wiring Commercial wiring | TEECH 3113197 & [ohg ATIRaT TATIAT & [oTT 39%hg TMETH IR Bre o SATGATI araRaT Earthing 33-36
earthing is to be done? R ST 82

15|Which method of earth resistance Fall of current Fall of potential Current dividing Potential dividing  [q2aT UTaRTer 719 & il O [G1 AT 872 FIC FI A glell [EEEETRGC RT AT ICECREEIc T Earthing 33-36
measurement is illustrated?

16|{How to control harmonic distortions in Earthing through Providing by plate | Increasing conductor | Providing parallel [IE 7323 & 37]ER eRf=l Gttt A grATaich GITen & ATETH @ |Tole 3T GaRT YTl | dleleh ol 3R SGTalT | THTecR 31T ol Earth resistance | 33 -36
neutral connections as per IE rule? impedance earthing size earthing oot &1 Fa Hafa frar sre? FAS LA tester

17|What is the function of current reverser in | Converts A.C. into | Reverses the polarity | Changes D.C. supply Reverses the 379 gTaRYEr gdleTeh & URT 3csheleh T H1Y FAT? | T.AL HTEL AL A D.C &1 ¢ar &1 | ST 3Tl o1 Ty ST T g Y Estimation 33-36
earth resistance tester? D.C of D.C into A.C supply  |direction of rotation of gRafda sarg 3eecary I Seerr QI SeolaT

the generator

18|What is the advantage of stranded Cost is less More flexible Less voltage drop More insulation  [I[2 § UHBTY ol S el shl Jolell H FAT AR HH & 37fere ot FH dlocal UId | 31TeIeh FralTeleh TTaUe Earth resistance | 33 - 36
conductor over solid conductor? resistance HRICT 87 tester

19[{How the earth resistance can be reduced?| Providing double Reducing the pit | Increasing the length [Decreasing the length [g2dT & UTaRTer &l & S TRAT ST Tl §72 SIE TN JeTed | 3T72aT o 1ol 915¢ & | Solerels ol oiealls Zoldels FI FaTS Special wiring 33-36

earthing depth for earthing of the electrodes of the electrodes Exo) IEITS el AT el T

20|What is the reason for supplying AC to Provide electrostatic | Protect the coils in | Reduce the value of | Avoid the effect of ~[gdY JfeRIEr sl HT9= & T selFeis A T &1 | TR Taegd dles e A 5ol &Y AR AT F A | [Fegd 3Tacy [ar Earthing 33-36
the electrodes for measuring earth shield the meter current in the meter electrolytic emf |3t =T T FAT HROT &2 9aTel Y gaa eTT S Pl gelel
resistance? interference

21|Why the pointer is not stable at zero on It is not having Provided with air | The deflecting torque | The deflecting torque [RR 3uer & Hfr &, T &1 7T gaes Tt g ATl T &4T 990 STEYET el | Taaeie Sereol 9RT | Ta<relet Jomgol &mT Earth resistance | 33 - 36
the scale as the megger is not in use? controlling Torque friction damping  |is directly proportional |is directly proportional |2[=ar 9% TR oT&T &2 GRIEEGEHETEH &r F AT & 3o & FATTIAT & tester

to the current to the square of the
current

22|Which is proportional for the deflection of | Current in current coil | Current in potential | Speed of the handle |Ratio of the current in [q2dt SfaRTer TreTeh 7 JHeAHIC 3 F Q&0 T 5ol H 4RI eags Aaw | fsaguadaia | ar gefodr § arT & Testing of wiring | 33 - 36

ohmmeter needle in earth resistance coil rotation two coils Wsﬂa’?ﬁ?%’? AHard installation

tester?
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23[Which principle the earth resistance Self induction Mutual induction Fall of potential Fleming's left hand  [q2dY 9faRTer qRYeTe fohd RAgTd IR 1 T 872 F IRoT 3T OROT IEEcEciCiCEEGEEE R NG Earth resistance | 33 -36
tester works? method rule [Cre tester

24|Why system earthing is different in It protects human only| It protects from all | Itis associated with | Itis connected to the |3TeRToT ATaT Y JoteTl 3 TOECH AT TeraT IE ol AT 1 |TE el TRUY aIST § | Ig 4RI dlgeh WTelehl | g IR YR ATeeh Earth resistance | 33 - 36
utilization than equipment earthing? circuit faults current carrying non current carrying |Ft g2 &M FIAT & JATATE qorEfaa g U3 & FFefUa tester

conductors metal work

25|What is the effect if a person receives a No sensation Painful shock Heart convulsions | Become unconscious |aTe; [REY eafad & 20 mA &R & STeahT Ied e T oAaT AT STeahl & TErd SBIA BT Earthing 33-36
shock current of 20 mA? YT & &Y T W9 IS &2

26|Which electrical equipment ‘L’ series type Geysers Locomotives Halogen lamps Air conditioners  [MCB & 1&g Taggd 3UeIur 'L' A0 T 397meT Elircry AentAlTea EolloTeT ol qTcTe] R oleh Earthing 33-36
MCB'’s are used? ThaT SITaT &7

27|What is the megger reading in a dead 0 MQ 1MQ 500 MQ Infinity 33 oY aRIRET SECToI2le A AR F4T 96 61 87 0 MQ 1 MQ 500 MQ Infinity MCB & ELCB 33-36
short wiring installation?

28|What is the advantage of crimping? Gives neat Reduce load current Avoid loose Easy to replace  |forf®&qeT & &1 wIer §2 A6 2R T &l © R ARTHA P | el TATSTAT I Tl | ST F Seofell Testing of wiring | 33 - 36

appearance connections installation
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Name of the Trade - Electrician 2nd sem - NSQF - Module 4 - lllumination

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level | Topic of syllabus |Week No of
the
Syllabus
1|What is the S.I unit of luminous intensity? Lux Lumen Candela Steradian ST AT e Y S| SIS FAT§? Lux Lumen Candela Steradian C 1 lllumination - 37 -38
Terms
2|What is the working temperature of 1500°C 1800°C 2000°C 2300°C GG oI T HIIRRT ATIHTST TohclelT 81T 872 1500°C 1800°C 2000°C 2300°C D 1 Filement lamp 37 -38
filament lamp?
3|Which material is coated in tungsten Silver oxide Phosphor powder | Fluorescent powder |Barium and strontium |[FelRIFE THd oI H I Solagls I ohd ey 3TFarss HIEHT JI383 TR T3 sRgaqrERad | D 2 |Flourescentlamp| 37-38
electrode of a fluorescent tube lamp? oxide e & T R sar &7 3FaEs
4[which position MB type high pressure Vertical Inclined Horizontal Any position MB e & 3T &1d IRT aTsd oY fehd el SR S[HIg 3 BIRE s off Rufa D 2 Sodium vapour 37-38
mercury vapour lamps are operated? # ganfad 3 s &7 lamp
5|What is the function of leak transformer in | Reduce the starting | Reduce the working [ Increase the working Ignite the high 3T g1d W13 arsd ol TRYY & olieh TITEI €RT Y TCeTT | FIARRY AlecsT Al | PRIBPRI dleed A | IR H 3¢9 dleest D 2 Sodium vapour 37-38
high pressure sodium vapour lamp circuit? current voltage voltage voltage initially AR T T I &2 e EEcl I el lamp
6|How stroboscopic effect in industrial twin | Connecting capacitor | Connecting capacitor | Connecting capacitor Connecting two [ 3ieaNfaTeh 2 €& TTge ThieaT # TIITehITash | FUTRA I MY & | FUTRT 1 Mgl FUIRT AT TF TR T Tedeh_ [® 3 |Flourescentlamp| 37-38
tube light fitting is reduced? parallel to supply | in series with supply | in series with one |capacitors in series to |T$TTd H& F 8T &2 TACR A F@AST | o A FAST FAT | FIBeH AN F | cgaages Ao &
tube light each tube light AT TS HLAT AT HLAT
7|What is the current carrying capacity of 50 mA 100 mA 200 mA 300 mA Cl;?»TQIT @r a—cm?ra’g:?r &THAT T §, IS I A 50 mA 100 mA 200 mA 300 mA D 2 Decorative lamps| 37 -38
flasher, if the current is 100 mA in each 9fFa & #e 100 mA g2
row?
VR .
M
d
8|Which term refers that the flow of light into Lumen Illuminance Luminous flux Luminous intensity WW?W@EWH#%THHT B qAA ST THRGR JATg THARGR gdl B 1 lllumination - 37-38
a plane surface? Hefid FHarg? Terms
9|What is the purpose of ignitor in high Decreases the Increases the running Decreases the Generates high  [3=d GaTd GIf3TH areq ofq Hfehe A oI &1 [IRTAS GO A G | TARE dlecA Al |[TA L I P Ol |  YE I W 34 D 2 Sodium vapour 37-38
pressure sodium vapour lamp circuit? starting current voltage running current voltage pulse at ol T 38T FAT 8?2 3 CEGIES oo Tod 3cdesl lamp
starting FIATE
10|{Which type of light fitting design has free Semi direct type Semi indirect type Direct lighting type Indirect lighting type [Toha IehIR ol YhrRr ATt 3ot Terraier & 378 YcgeT TR 37T 3T5cTeT UhR YcT&T 1M IhiX ICTET YhIRA Toh R B 2 Show case 37-38
from glare? HFAE? lighting
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11|Why the outer tube of a high pressure Increase the lighting | Withstand heavy Withstand Reduce the ultra  [3= &9 &Tq &oll$3 o9 i aT6d <& SR YT THTG §GI0 | AR ITIHTT &l Heol | argHSeN gad &l ST § RIS Metal halide lamp| 37 -38
metal halide lamp made of boro silicate effect temperature atmospheric pressure | violet radiation from |f&feiehe soma & &t gicr &2 ETy TEA TfoRoT &l A Y
glass? lamp
12|What is the term refers luminous flux given Lumen Candela llluminance Luminous intensity [9fel FfwTe 31 10T 9X b1l A &aRT &l a5 A Fegol ERiGET THBGR ciadl lllumination - 37-38
by light source per unit solid angle? THARER TATg ! FIT hgd 87 Terms
13|What is the unit of luminous flux? Lux Lumen Candela Lumen/m? THFGR JATE I SHIS FIT 72 Lux Lumen Candela Lumen/m? lllumination - 37 -38
Terms
14|What is the unit of luminous efficiency? Lux Lumen Lumen/m? Lumen/watt THFGR GETCT Il SIS FIT &2 Lux Lumen Lumen/m? Lumen/watt lllumination - 37 -38
Terms
15|How the rate of evaporation in a vacuum Filling inert gas Producing arc in bulb | Reducing filament | Increasing filament |3 # S 3 aTSUIeRTUT AT €3 el HA Bl 872 HEHT AT AT | Fod H 3Teh HT 3c9TGeT | g TIaRIY &l & aq afaRiy Jerer Filement lamp 37-38
bulb is reduced? resistance resistance ExG)
16[{What is the main advantage of coiled coil High melting point Higher light output | Low operating voltage Low power FSTold 3N oI T FH T ol FT &7 39 ITelellh 3T YT 3¢9l | ol T>dlcle dleesl | el TSofell el W Filement lamp 37-38
lamp? consumption
17|What is the name of the reflector? Mirror type Soft light type Parabolic type Dispersive type  |ORTdcIeh ol =TT FT 872 EquT JhR A TehTA TP RIS JhR el aTel YR Show case 37-38
lighting
Spot light Bulk light Flood light Flash light TRTRT ST ATH FT &2 TIC oise TaEqa Terr FelS 8T TFoleT AT Show case 37-38
lighting
7,
o
19|Which device provides ignition voltage and Arc tube Sodium vapour Leak transformer High pressure leT | 3THIOT TR Aleeol Fee el ¢ 37T ¢gd |fsgA arsq Rama grawER 3<d gdld Sodium vapour 37-38
act as choke in a HPSV lamp? aluminium oxide  [3R Te TadiTadr {9 # W6 & & F FI TegHifeaa 3itearss lamp
FLAT87?
20|What is the name of lamp? MAT type MV lamp | HP metal halide lamp | MB type HPMV lamp | MA type HPMV lamp |oIT &l =13 &1 2 MAT &R MV ofd | Tadl &7q 7185 oid | MB Y& HPMV &19e | MA Y& HPMV &ies Mercury vapour 37-38
lamp
21|Which type of lighting system is used for Direct lighting Indirect lighting Semi-direct lighting | Semi-indirect lighting [FFers 3R 3?\3‘&1‘13\1?\ ThIeT SATEAT o [T fovd TcI&T TehTRT 3TITET Th1em 37eT-gcgaT enrer 3TET-3T9cTeT ThTeT Show case 37-38
flood and industrial lighting? YRR T YhTRT STaTAT ST IUANIT fHIT SATT 872 lighting
22|Which is the cold cathode lamp? Halogen lamp Neon sign lamp Fluorescent lamp | Mercury vapour lamp [&leg g ofd @lel a1 8?2 gollotet o AT Tohdl GIIh FARIIC o IRT aTsq o Neon sign lamp | 37 -38

ITI Mock Test - www.ncvtonline.com




Download From : www.ncvtonline.com

Name of the Trade - Electrician 2nd sem - NSQF - Module 5 - Measuring Instruments

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPT C OPT D Ans | Level |Topic of sylabus| Week No
of the
Syllabus
1|Which force is required to move the pointer Controlling force Deflecting force Air friction damping |Eddy current damping [Ue Hehcieh 3UehIUT # TIgex i Y AUTT & | Tl i fAd el dal ICECCER] I TYOT FHeel AR &RT FHel B 2 Instrument - 39-41
from zero position in an indicating TUTATART He o folv forg Fer T Forces
instrument? ITIRIHAT gIch 62
2|Which is the position to use the instrument Any position Vertical position Inclined position Horizontal position [[&caTenyol [T & AT J&Te T 1T oy oY R & Feaer Tufa S g ufa Sifae Feafa B 2 Instrument - 39-41
provided with gravity control? YT T 3TN et e Uy Sl A g2 Forces
3|What is the name of the scale? Linear scale Coarse scale Extended scale Non-linear scale  [S#TeY &1 =T8T FaT §2 s de =y AR A ) Reaia damer R T D 1 Instrument - 39-41
Scales
L w15
100 5
‘ksm OHMS R
:K READABLE RANGE ¢
4|Which error is caused by the incorrect Device error Human error Influence error Switching error  |3¥zHc AfS9T Y 310 AT & HROT HieT AT 3qHTOT e AT T EEICE TEafer Ife A 3 Instrument - 39-41
position of instrument reading? FFeardre? Scales
5|Which instrument is used to measure one Megohm meter Multimeter (analog) |[Shunt type ohm meter| Series type ohm  [Teh 31ed 3R T 3NeH & rd UTaRIE AT Y FI 3EA Hex FAcCIHIEI (TATAIT) 9TC TI3Y 3NTH HITX | ATl IR A Alex | C 2 Resistors 13-15
ohm and below one ohm resistance value meter A9 & Torvw foRer 39eRtoT &1 39T fovar
accurately? STaT &2
6|What is the purpose of the 3" terminal Get higher ohmic Pass the excess Pass the excess Get accurate SeeTcl HIMINEH HIeX H VTl [hU A0 AN | 35 3NTEHR H1of Tred | 3TARFT dlecst sl | TARFT URT ST A H | Eroled o [9aT1 FEreh D 2 |Testing of wiring | 33-36
provided in a advanced megohm meter? values voltage to ground current to ground readings without [T T 3227 FAT§? ETs R IE A 3o &G FUECRCIS installations
oscillation
7|What is the name of the shunt resistance Copper Eureka Nichrome Manganin e ITaRYer AT T AT &7 &2 GIED et ATSShIA Aot D 1 Extension of 39-41
material? ranges
8|What is the reason for the moving coil meter | Deflecting torque is | Deflecting torque is | Deflecting torque is | Deflecting torque is  [TeT el ATeX & Toh THAT JA W aA A | [Jaeled S0 ORI & | [Faeled Syl g1 & | ool semgoi o & | o semgo o s | A 2 | Moving in meter| 39-41
having uniform scale? directly proportional |inversely proportional |inversely proportional | directly proportional |3 &RUT §? KiIGCIRET G HAG IS T & SGSHAGUCS | T & GARG U &
to the current to the current to the square of the | to the square of the
current current
9|Which error if the energy meter disc rotating Speed error Phase error Friction error Creeping error | IT¢; 3ol HIeR [3Eh [oAT AT oIS & SIMAR aifd FHr e Fell Ie ELEE A AR D 3 Energy meter 39-41
continuously on no load? gAY at it & e 82 errors
10{What is the effect on CT if its secondary is | CT primary burns out | Volt ampere capacity |Volt ampere capacity CT secondary Ife e T gl Goll W SIATe AT g6 | CT & TATHE F8ell | dlec TFAIN &THT A | dloc TFIRR &1 a1 96 | CT i gladias gsell | D 3 Instrument 45 - 47
kept open? reduces increases winding burns out |9 T YT IST &7 STeT SITWatT REIGIE ST & STeT SITQatY transformer
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11[What is the purpose of variable resistor Avoid draining of | Minimize the error in | Adjust the current to | Adjust the pointer to [27€ SR 3Ned HIeX ¥ 53 TRadT IIaIe & | S T oRaes d 99| Iraamh ﬁ$ FIHH | TR T FI&Td AT R IS I Y Resistors 13-15
connected across shunt type ohm meter? battery reading safe value zero adjustment 332 FAT§? FATST Y "
_h
12|Which material is used to make control Steel Silver Tinned copper Phosphor bronze  |ATIeT aTel 3USOT H [HATA0T TG F=11 & FEqTT By Fols [ohdT g 37 el BIERT SlTeol Instruments - 39-41
spring in measuring instruments? e forg Arasft &1 3TZYeT fohaT ST 872 Forces
13|Which electrical effect that the single phase Heating effect Induction effect Chemical effect Electrostatic effect |Tahel TRUT Fal HIX il A [AGgd THE T FSHRT IS IROT 9T TS wera T8 faggd yerma Energy meter | 39-41
energy meter works? HTH HIAT &2
14|{Which is the position to use the instrument Any position Vertical position only | Inclined position only | Horizontal position |T&FeT [I70T & ATY YeTeT ThT ITT ITIOT T ey o i & el FLAER AT | Fadl 1 §§ A Hhad Sl =dfa Instruments - 39-41
provided with spring control? only 39T T T Al FAT §? Forces
15|What is the name of meter? AC multirange DC multirange AC and DC AC and DC HIex &l AT FAT 8?2 THT Aeekal TACY | 30T AeeSl dlecaTeX | UdT 3R S/l AceRaT | THT 3R 3T AceRa MC meter 39-41
ammeter voltmeter multirange ammeter | multirange voltmeter THEX [
16|Which instrument is an example of an AC voltmeter DC voltmeter Energy meter Tangent e AT 3TRIUT Tehihd 3UHI0T &l Th TH diecHe 3T dlecHIET Fam Hiex TIRAT Sedalaie Instrument - 39-41
integrating instrument? galvanometer 3ETE0T §? Types
17|How the creeping error is controlled in By reducing rated By increasing the By adjusting the By drilling two holes |3aiT #IeX & {11 1 FfE 1 & AT [FAT [IE3 AAecol l HA HH |  SRUT AR D GG | §eh gash ol (€U bl | [3€6 W a1 O 130l Energy meter - | 39-41
energy meter? voltage inductive load brake magnet position |diametrically opposite |STTaT &2 AT Xeh =g & fauda Errors
on disc
18|Why the scale of the moving iron instrument | Deflecting force is Deflecting force is | Deflection of force is | Deflection force is  [rel dilg YehR 3THUT T UHTAT I THTA FaT oo g, T & | [aaelel Jemgul aRT & | faaele 9o, 9RT & 397 | [adele 9o, 9RT & a1 MI meters 39-41
is having un-uniform scale? directly proportional |inversely proportional | directly proportional |inversely proportional |g¥aT &? HATIAAT 1T & B EIGLICIE F AT | & ST ShAT I Bl &
to the Current to the Current to the square of the | to the square of the
Current Current
19|Which source of measuring error is caused Device error Human error Influence error Switching error [T 817 & T & SHIROT AT I hief AT EEERES AT e EECE RafRr e Instruments - 39-41
by the effect of magnetic fields? e gredrg? Forces
20(Which type of wattmeter? Three element 4 wire | Two element 3 phase Three element 3 Three phase two  |fh& JhR T dTcATER &7 dief 31999 4 R &l 31999 3 el e 3/99a 3 AROT e TROT & 3a¥a C.T Wattmeters 39-41
wattmeter wattmeter phase wattmeter element with C.T & AR AR AR &P.TH AT
P.T
CETICE]
ad 77
G
s vi
21|Which type of instrument is used with air Moving coil instrument Moving iron Induction type Dynamo meter type [T SohI o STYOT T 3UATaT a1 TYOT T FZell IUHIOT Tl g 3TPIOT UROT bR 3YhOT BTITAT HIeX JhR MI meters 39-41
friction damping? instrument instrument instrument 3fFder & TrYy fRaT STaT &7 3YHIOT
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22|Which type of energy meter works with Three phase two Three phase three | Single phase single Three phase two |3l TS vl TP & Foll A & TTT | diel holl &Y 379Td T Foll IIF 37TTT | Tehol TRUT Uehol 3GTT | TIT 3R AT & arg Energy meter | 39-41
neutral connection? element element element element with CT & PT |aTe &l &7 BIGETIRARCRE
23|What is the type of frequency meter? Weston type Ratio meter type | Electro dynamic type Mechanical 3Tgfcd HIeX T TR FT 872 JECA JhR IFFUA AR IFR | I d SRR 9o | T 3G Th Frequency meter| 39 - 41
resonance type
24|What is the unit of sensitivity in instruments? Volt / ohm Ohm / volt Ohm metre Ohm / metre T A TAGAMeIdT Y SHIS FAT 52 Volt / ohm Ohm / volt Ohm metre Ohm / metre Instruments - 39-41
Scales
25|Why two straight holes are provided in the To reduce the disc For power factor To prevent the flux To arrest the Soll HIeX A CoggA S A g1 N O, | T3 haoid P el | AT YU GUR S | Folad RATd ol Achad | J3TeA T JE 1 JAehed b Energy meter - | 39-41
aluminium disc in energy meter? weight correction leakage creeping error FT gerT T S 82 FA & forw foT F fow foT Errors
26|What is the name of the instrument? Absolute instrument | Indicating instrument | Recording instrument | Integrating instrument [T &7 T3 T 5?2 TsdTegC 3907 Hehcloh 39hI0T RepiTSaT 3UaOT Tehlghd 3UIOT Instrument - 39-41
Type
27|Why damping force is required in a moving Makes the needle | Helps the deflecting | Brings the needle to | Arrests the needle [=el 8ol SURCT # STPUT aeT AT HTARTF |G T ITTcY T ool el | Tereretat oot T cloll & S A 3T YL 2=t o et g3l Instrument - 39-41
coil instrument? movement faster force to act fast its zero position without oscillations  |&? g FRA A HAcgaarg| ATH A ICRIEGKTGINS Forces
28|What is the function of soft iron core in a Strengthens the Controls the needle’s | Provides meter with Provide uniform [Tl el 3UeUT 3 XA 7l & IS HI FAT | [I&TIUT ol 1 FAolqd | 3 1 M1 &l [1A3d ‘ e 1 3MDHdH R AT A gah MC meter 39-41
moving coil instrument? deflection force movement maximum sensitivity distribution of FRIE? FATE FIATE TGN UGTeT AT | Felerd T Teh THTT
magnetic flux in air B TIAOT =T
gap
29|Which parameter is the cause for loading Low accuracy High sensitivity Low sensitivity Low influence error |HATIe T TR SNTSIT FeITd T SHIRUT shieT AT FH HEThdl 3= Haca1eiel e FaceTeldr FH JHE e Ml and MC 39-41
effect on measuring instruments? R §2 meter
30[Name the type of instrument. Attraction type Repulsion type Permanent magnet | Dynamo meter type I &I YR =T | THYUT GhR Tl el | FTAhYUT YR el olig | TARN e I g8ell | STATHAT HIeX TR MI meter 39 -41
moving iron moving iron moving coil moving coil W
31|Which meter is used to measure revolution Tachometer Energy meter Ampere hour meter | Centre zero ammeter [H1eX & gUT 9T fHIc I ATI o [oTT ohe TR Foll HeX TFIRY T¢ HeX [ g, THIC 3 phase motor - | 61 - 62

per minute of a motor?

FHYeT &7 3TN AT AT 872

slip
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32|How to identify the moving iron type No terminal marking | Terminal marked (+) One terminal Terminal marked (+) [l oiig YehR & 3UIOT T g Ha HL? HIg ORI 3t 8] | hadl AfeaTd (+) Y | S Wl wah R | effiaTd RAfgad (+) 3R MI meter 39-41
instrument? only coloured red and (-) )
33|Which is an absolute instrument? Ammeter Volt meter Energy meter Tangent T [ARUET ITIOT ShleT AT &7 TH Jrec Aex Folt ATSY TIRAT Sedaliaie Instrument - 39-41
galvanometer Types
34|What is the function of integrating Displays the quantity | Indicates the quantity | Registers the quantity [Measures the quantity [Tshierd 39R0T T FT HI 52 AT IS I hdl & HTAT T Thd &Il & HTT T Gof AT & FTHT Sl ATGAT Instrument - 39-41
instrument? Forces
35|Which quantity is measured by an Power Current Voltage Resistance T SIFCISIIATAT FhR & IUHI0T a7 fhd HiEG] RT dlecat iRy Instrument - 39-41
electrodynamo type instrument? AT ST AT STAT 82 Types
36|How to achieve maximum accuracy in Keep low input Keep high input | Use short connecting Provide correct  [TATeTaT STZHE T 3TTNT &hleh AT H T YT FTTSTEN T | 3T 79Tl TSN I | DI SholieFedl ofls 1 | Hel FHewl JOTTel Fetal Instrument - 39-41
measurement using analog instrument? impedance impedance leads damping system  |31Teds TEHAT HE ITCT 2 39T A AT Forces
37|Calculate the value of shunt resistance 30 300 030 300 Q T mA HieX & AT 10 mA AT & foT 3Q 30Q 03Q 300 Q Dynemo meter | 39 -41

required to measure 10 mA with one mA
meter.

3T Qe TTARIET & HATA Y IVTAT HI?
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Name of the Trade - Electrician 2nd sem - NSQF - Module 6 - Domestic appliances

Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPT D Ans | Level | Topic of sylabus | Week No of
the Syllabus
1|Which material is used to make heating Silver Copper Nichrome Aluminium EITCIT Icd Sellel oh ToIU [ohd ATHIT 3T 3TATT qrer arer ATSShIA regHITA C 2 Heater 42 - 44
element? ToRaT STt 72
2|What is the name of the part of electric iron? Sole plate Pressure plate Mica insulation Asbestos sheet [T d SEAT & HTIT T ATH T 52 el Tl ErIERT 38R HlToleh TEIEeH e A 1 Electric iron 42 - 44
]
3|What is the function of stirrer motor in micro Draws cooling air Spreads the heat | Exhausts the hot air [Revolves and reflects |[ATSshIda 3Nae & FeX AT HI T FATG? | 3T S8 gal WradT g | AT I AT &7 F I gaT ot JTET A AR ﬁa%a D 2 Micro wave oven 42 - 44
wave oven? inside uniformly outside the electromagnetic tomar & I & PG Folt
energy geffar g
4|What is the purpose of U bend marked as ‘X’ | Prevents draining of |Avoids the forming of Reduces the Restricts the air [T 3 I 98 &I AT 32T &, ol X' F &I qTaiT T feTentalt st Thel & gl A a1 | To¥alcT U139 o ga1a 1 |Coh & e gar dh dileh | A 2 Geyser 42 - 44
in geyser? water scales pressure of outlet  |locking inside the tank|RIf@Ta g2 Jqehar & KIGIN FHFIATE CARIGEIBGETG N
pipe
i
5|Which type of A.C single phase motor is Universal motor Repulsion motor Split phase motor | Shaded pole motor |@TEY fAFET H fFd YR T A.C Tehel ol FiAadd Al gfaeRyoT At TECeIT thal Al 2133 Tel Al A 2 Food mixer 42 -44
used in food mixer? e FT 39T FRT ST B2
6|Which is the position for maximum output of Position 1 Position 2 Position 3 Position 4 €1 & 3TAFAH 91 & ToIT Sied AT TATT g2 Position 1 Position 2 Position 3 Position 4 B 2 Heater 42 - 44
the heater?
]
7|Which formula is used to calculate the heat Heat generated = Heat generated = Heat generated = Heat generated = [S[d & IH & 3R 3cHool AT T ITTAT Heat generated = Heat generated = Heat generated = Heat generated = B 1 Heater 42 - 44
generated as per Joules law? IRT/J cal 12RT / J cal IR2T / J cal (IRZT/Jcal T & ToIT fore g7 1 39T v airar 872 IRT /J cal I?2RT /Jcal IR2T / J cal (IRZT/Jcal
8[Calculate the heat generated in a electric 70.5 Kilo calories 71.0 Kilo calories 71.6 Kilo calories 72.1 Kilo calories  [1000 dte, 240 ‘q’l_cf’ oC & Tdegd gIcY H 3cTeal 70.5 Kilo calories 71.0 Kilo calories 71.6 Kilo calories 72.1 Kilo calories Cc 2 Heater 42 -44
heater of 1000 watt, 240 volt, worked for 5 AT Y AT Y, e A 5 eI F v Fre
minutes. fRar?
9|What is the purpose of protection grooves at | Radiate the heat Retain the heating Place the vessels Protect the heating [81eX 99 el H fafi==1 T W) gam @ AT H S & FSHIT HTTd T T&aT | Tl I 81X FHI Tl QfeaT 3razra B 2 Heater 42 -44
various places in a heater base plate? properly element firmly firmly on heater plate |element from damage [T 3327 &7 &7 [CEAEGETY a3y R AL T THATT q FaTg
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10|What is the purpose of sole plate in electric | Acts as a balancing | Acts as an insulator | Protect the kettle | Keep the element in [Tdagd Sdell 7 |Iel Toic #1 3029 FAT £7? T AJA ToIA H T | IHAIT AU TH | Shclell 980 1 FAEA | 3G B heal Electric kettle 42 - 44

kettle? weight for element base from damage | close contact with AFT AT FraTel & §9 H H T 41U P aus A @
container FATE

11{What is the magnetron tube filament voltage 1.5VAC 2.0VAC 3.0VA.C 3.2VAC HATSHIAT e 7 TFFd FHIICI Tqd [hellHC 1.5VA.C 20VAC 3.0VAC 3.2VAC Micro wave oven 42 - 44
used in microwave oven? dreesT FATE?

12|What is the fault in a food mixer if it runs Worn out brushes | Armature coil open |Defective commutator|Field winding partially [&-%% &< Telel WX {3 [HFaR H FT TS 2 el g 3N HTHTR FSell ot AU FFGER 81T FSoll D &I & Food mixer 42 - 44
intermittently? short CECIDEE

13|What is the defect in a single phase pump Defective capacitor |Open starting winding| ~ Short in starting Shortin running  [Tehel el T4 A A &Y F4T ¢, Jfe T8 AT Sryq ol FETRT el arsfsa T TS BT A REOESEIE:] Pump set 42 - 44
motor if it runs with slow speed? winding winding T F TATT &2 egafda ergafaa

14|What is the function of neutral path in AC Provides current Provides voltage Reduces voltage Maintains load 3TN o ToT T MYl JOTTeN 3 3erte YRT A9HT 9Y YeTe | dleest T R Yei | araier H deest g AR IR Y foad Neutral concept 42 -44
supply system for appliances? return path level constant drop in wiring current constant {2 3T I FAT &2 AT E AT HT FHHF FAT & GaTe

15|What is the function of magnetron tube in a Amplifies the Changes the polarity Oscillate and Converts microwave |HTSshidd 3iidel & Hieiciel TY& T FATHR ¢? | HIShIAd [F9eTel T | g 3 Teh A YAl | lelel IR TAT Gl | AISshIAd Sl 1 Micro wave oven 42 - 44
microwave oven? microwave signal every half cycle produce cooking energy to electrical JeraT g FeoIdr & & 3mgfed T Icdreet R eIk

frequency energy FATE

16|Which type of motor is used in the wet Universal motor Repulsion motor Capacitor start Capacitor start  |3fTel TarehT & fohd YRR T ATCT 3T 3TITT AT Al gTaehyoT AleX FOAR TTIC e | FUTAeR TTIe Hare Wet grinder 42 - 44
grinder? induction run motor | capacitor run motor | STAT §? T AR T AR

17|(What is the name of the circuit? Electronic fan Electronic voltage Electronic voltage Electronic triggering [Tfehe T AT T &7 5(’1@0'5‘5"%3? q@r 5014‘5‘5"%-!37 dleca 5(’1@0'5‘5"%3? dleca SCR &1 soichfﬁm Celing fan 42 - 44

regulator multiplier stabilizer circuit of SCR [GRiccs TR IR afde
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Name of the Trade - Electrician 2nd sem - NSQF - Module 7 - Transformer

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPT D Ans [ Level [Topic of sylabus| Week No of
the Syllabus
1|Which type of transformer is used for high Ring core transformer Ferrite core Silicon steel core Grain oriented core |3 Mgl 351 o [T & TR h RT PR AR TRIST R BR[| RTerehlel TIel R @l 37T HR B 2 | Transformer - 45 - 47
frequency application? transformer transformer transformer TIAWIER T STAIT fhaT SITaT &2 THBEIR TABEIR Classification
2|What is the relationship between primary E,=V;and E, = V, E,>V;and E, >V, E;<V;and E, <V, E,=V,and E, =V, [T e CABER A WA aleest (Eq, V) | Ei=V,andE,= V, | E;>V,andE, >V, | E;<ViandE, <V, | E;=V,andE, =V, | A 1 Transformer - 45 - 47
voltage (E;, V,) and secondary voltage (E,, V) 3R ATefAE Ao E,, V,) & &1 37 Ty Function
in a ideal transformer? 2
L]
Tm
Vq Eq g
3|What is the function of conservator in Prevents the moisture | Transfers the heat to Allows to release Allows expansion of [ZTHBRR H HoRdel T I FIAT 72 T & T I Aehcll § | ATGHSA H SSHT T | AR &o1d OIS T | oS [Feeicll HHROT | D 2 Transformer - 45 - 47
transformer? entry atmosphere internal pressure oil level due to load TATATART HIAT § HIATTSGATE AT TR & faear $r Parts
variation HIATTSGATE
4|Which loss of transformer is determined by Copper loss Windage loss Hysteresis loss Eddy current loss  [2ITC Afhe S¥C GaRT SRABIIR & [ohd 1ol T BICRIGE g &ty BRI g1y A YT gTlet A 2 |OCandSCtest| 45-47
short circuit test? frefiRoT foRar Sar &7
5[Calculate the voltage regulation in percentage 7.20% 8.30% 8.71% 9.09% m H diecs & Ulaerd ATIeT Hr 7.20% 8.30% 8.71% 9.09% D 3 Efficiency 45 - 47
of the transformer if the no load voltage is 240 IUTAT Y, AT Y AR deest 240 dlec &
volt and full load voltage is 220 volt? 3R qoT 9 arecsT 220 dree &2
6|What is the purpose of using laminated core in | Reduce copper loss |Reduce hysteresis loss| Reduce mechanical | Reduce eddy current |[SRHIFR & gohs s H IR T 3TAT ket T gTie 1 sl Y |RECRAN gliel bl vl | TTTAeh &TTcT T haf X | 87X URT BT I hal | D 2 Transformer - 45 - 47
transformer? loss loss FT 32T FATE? ETS FHLAT Function
7|What is the cooling method of transformer? Oil natural cooling | Oil natural air forced | Oil forced air forced Oil natural water  [gTIHER $T el AT FAT 8?2 Aol AT 33T | cIoT JTepicish g STeid | ool Sfold gl Sfoid | ciel FTepfcieh Tlait Sfelt | A 2 [Cooling method| 45-47
cooling cooling forced cooling 3T AT SST AT 3T
i
8|What is the condition for obtaining maximum  [Copper loss > Iron loss|Copper loss < Iron loss|Copper loss = Iron loss| Copper loss = Eddy |[STHER & 31TIehd# g&Tdl ITed el & ol | dTH gliel> olig lie] | dTH gliel< olig &lfel | ol glla= eiig gl | A glied= HaR &aR’T | C 2 Efficiency 45 - 47
efficiency from transformer? current loss AT AT &2
9|What is the function of top float switch of Activate in moisture Activate at Activate at open circuit Activate at high SR H JTTesl Rel & MY Folle g 1 | AN R 3uRYTA A | (IR 1 RUTT A | ol Aiche b1 FRATA A | 3z d19el=f &1 [&fd | B 2 | Transformer - 45 - 47
buchholz relay in transformer? presence overloading condition condition temperature condition | &7 &2 afra &Y afra &Y afra &Y Aafra AT Parts
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10[Why the core of current transformer is having To minimise the To maintain constant | To prevent high static | To minimise the error [Gd#TeT TRAHIAR T PR He AT 3R FH |97 B HF I & [07] R @91 T10 3og &R Tl Y 9ot A7 JfC B A Instrument 45 - 47
low reactance and low core losses? burden output shield in reading PN gIfeY FAT I /T 82 TGt & forw et & forT Fel o folT transformer
11|{How the error in reading of a potential Using thin laminated Providing long Using high flux density | Providing good quality |TS#a ZrE®ER #T 9t 3 3¢ 31 8 HH YeTold IR T 3UAT | oI JahA 9 Yal |39 YaTg Helcd AIHIAT | 316 I UTdcel drell Instrument 45 - 47
transformer can be reduced? core magnetic path material core material TR S TR 87 Exo FET T 3T HLAT PR ATHAT Y&TeT HLeAT transformer
12|Why the load is disconnected before the OFF To disconnect the To disconnect the To avoid heavy To provide an 3T oS U Seolel & JHTOR2 O Ugel oS &1 | eI foig & IO 1 | STFack & Ao U | TUeh feig3il ux o7y sz & AT s Transformer - 45 - 47
load tap changing operation? tappings from neutral | moving contact of the |sparking at the contact | electrical isolation for |aTe f&ar STar &2 TEaa wE & o | dud o eafea | efder 8 s9a & fow | Regd sreema e parts
point diverter points the windings Crokcariy Ero kA Ty
13|What is the name of the part in power Breather Tap charger Explosion vent Buchholz relay TR TAHIER & HIET T ATH FAT g2 e oI AR AT dT FTTeol Rl Transformer - 45 - 47
transformer? parts
g
i
14|Which condition is absolutely essential for Nature of load Type of cooling Phase sequence Class of insulation  [&f TRIBR & TATAIAR FaTeled 3 ToIT ShieT AT AR HT TepTd el TR ol 3] A SEHTS FrelToleh &1 Parallel 45 - 47
parallel operation of two transformers? used Teafa foregpe smasas &2 ofr operation
15|Which construction technique is used to Use of laminated core | By reducing core By using grain Use stepped core  |I3 SRADBIAR 3 dId & T 1 A el & | UcTold X &I 30T | I AICTS 1 A A4 | 101 308 HR &l TROTEE P AGET Efficiency 45 - 47
reduce copper loss in larger transformers? thickness oriented core arrangement forw Ty fo#ATOT dehelieh ST 39T fovar STar 3T h I 3TN HL
[
16|What is the name of transformer? Air core transformer | Iron core transformer | Ring core transformer Ferrite core TIAHIAR T AT FIT g2 Y PR CEBER | A PR HBER | a7 R BN IRTSC R AR Transformer - 45 - 47
transformer Classification
§
:
17|Which transformer is used to measure high Pulse transformers | Ignition transformers | Potential transformers [ Constant voltage ~ |3%& dlecal STcISaTaAl &l AU o [oIT fehdl Il SRS ST TrawER Q919 TABER a Ao S EHER Transformer - 45 - 47
voltage installations? transformers TIAHTHET T 3YANT T ST &2 Classification
18|How does the moisture is controlled in Using silica gel Using transformer oil | Using sodium chloride | Using ammonium jelly |TTaR ERAGRR TR o131 § Uslex H o101 b1 el | TR Siet o1 3UAN9T | SRR h cief 1 TSTH FARTSS T IANTATA STell BT Transformer - 45 - 47
breather fitted on power transformers? gfa fFar srarg? AT 3TN AT 3TN AT 3YANTT FIAT Parts
19|Which power loss is assessed by open-circuit | Hysteresis loss only | Eddy current loss only Copper loss Core loss TTAHIFR 9 3T9e1-HTehe IRI&TOT GaRT hdl Fadl BECRAH gy | haol HaR URT glieT T gt PR gTheT OC test 45 - 47
test on transformer? 1P BT T 3TheleT fohaT SITAT §7
20|Which is determined by the crackle test of Acidity Moisture Viscosity Dielectric strength  [CTAWIER & del & shehel CTC T ThEhT 3rFcldm oTHT 9Tl ey d eaferd Oil testing 45 - 47
transformer oil? Ot BT &7
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21|Which material is used to make core of power Soft iron Rolled steel Copper alloy Cold rolled grain ~ [GTaR EIA®IFR 3T R STl & [T hd TTHAT BN Jes Trel dleT AT arg  |Fles Ues I 3RTes Transformer 45 - 47
transformer? oriented T 3TN THAT ST 82 parts
22| What is the name of transformer? Auto transformer | Core type transformer | Shell type transformer | Audio frequency | STAHIFR T AT FT &2 3TeT TRAHER PR IR HI CHHER | Ael ThR BT AR TSN 3Tgicet Transformer 45 - 47
transformer TARIER classification
i
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23|What is the purpose of providing explosion Air releasing Heat releasing Pressure releasing Moisture releasing |dTaR TRAHEER & [GEHIT d€ UeTeT et T &aT SISl FSHT SIS SaTd BIgaT AHT BISAT Transformer - 45 - 47
vent in a power transformer? 3T FATE? parts
24|What is the function of buchholz relay in power | Protection from high Protection from Protection from Protection from both  [TersTell ZRIR A JT@Tewl el T R FAT? | To0 AT O G&T | de A GAU A drell | Soh A gaa olfsar & | TR IR Tgag= Transformer - 45 - 47
transformer? temperature moisture entering in oil | pressure loading in | overloading and short Hﬁ@gl’ﬁ g a’lﬂ’f@gTﬂT parts
tank circuit
25|Why primary of potential transformer is wound To offer high To obtain required To regulate the To stabilise input and |77 Ta$1d CTAHIER T TATAS Telell R IR | 3T IROT & o foIw 37T aleco TS GRT 92 3N 3M3eqe Transformer - 45 - 47
with thin wire and large number of turns? inductance voltage ratio primary current output voltage TSt TEAT A gATE & Ay Fefod fhar srar FIauTT W & | RfAafia v & o |[aeesr it R s & parts
g2 forw fow
26|Why distribution transformers are normally To avoid over loading | To maintain constant |To reduce transformer | To easy distribution of |T&cRUT ZRIBRR AHET FT A Secl H HIAROTATTA F | R dlecod ST | THBIER & AT 1 | 3 FHell 4 IR T0Tel & Three phase 45 - 47
connected as primary in delta and secondary voltage losses 3 phase 4 wire system |JTaf#e 3R TR # gfdcdige & &7 7 F41 3 T @ & forw FH F & [T 3T faeRoT & fow transformer
in star? gUs?
27|Which type of emf is induced in an ideal two Self induced emf Mutually induced emf | Statically induced emf | Dynamically induced [3Te=Y T ATETSdT CrAHER A g TR I Y IRASUATH | 3T IR STATH | R IRASTATE | Ifaeliel 9 8 IR Function of 45 - 47
winding transformer? emf SUATE YR Bar &7 SUATH transformer
28[How to determine copper loss in a transformer? Ratio test Impulse test Short circuit test Open circuit test [T AWM A dTd & o] &HHTe T [LUROT Hd 3] U TIETOT 377997 q&TOT oY IRYY CFC ell ATy &¥e SC test 45 - 47
FL?
29|Why ferrite core is used in radio receivers? To reduce the To reduce electric  [To increase the quality To increase the TTSC SN T 3U19T ASAT RATR H &1 [T | 811l &l el #3et | g d safasor sl | eafel &l apuraed st | REtaR 1 gaTdT dgrat Transformer - 45 - 47
constant losses interference of sound efficiency of receivers |SITaT &2 F fow FH FA & fow & fow & fow Classification
30|What is the advantage of stepped core Minimizes copper use | Reduces hysteresis | Reduces eddy current [Reduces the space for |a3 STHHRR & TRUTEEG PR TTELT T FT TS & 3YTT hl e | RECRATT gl vl | AR URT g1 I hel | PR S ToTT STIIE ol Transformer - 45 - 47
arrangement in larger transformers? loss loss core BTICT &7 FIATE FEATE AT FLEATE Classification
31|Which material is used in breather to prevent Silica gel Sodium chloride Ammonium chloride Charcoal and salt  |[SRIHIER ool & AT ol Aeha] o [IT eI H e e AfSTT FaRSs IAATA FARSS | IRDI 3R AP HT Transformer - 45 - 47
moisture entering in the transformer oil? mixture forg TTFET T 3TN foRaT STt §72 fFrsor Parts
32|What is the disadvantage of auto transformer? More losses Heavier in weight  |Poor voltage regulation| Cannot isolate the  [3iTeT SRR T AT T 22 3T griear Folel | AT TR aleeol MATaaee | idciash arsiser st Auto 45 - 47
secondary winding 37CT9T =T8T &Y Tehell transformer
33|Which cooling method is used in pole Air natural Oil natural air blast | Oil forced air forced | Oil natural air natural |9tel TATIISIA [AdROT SIABER & g arg wp i T TTp e arg ol sfold gar afeid T I Tdeh gar Cooling method | 45 - 47
mounting distribution transformer? fraeret Tafer &1 3uteT foRar STaT §2 e EIcAnE
34|What is the composition of steel and silicon Steel 97% and silicon | Steel 95% and silicon | Steel 93% and silicon | Steel 90% and silicon [EEHIFR HI & TETel 3R FATTRI Tl T T 97% 3R FEeT 95% 3R FEel 93% 3R el 90% 3R Transformer - 45 - 47
steel in transformer core? 3% 5% 7% 10% HIIAT FAT 62 fafesieT 3% fafeie 5% fafasiT 7% fafereisr 10% Parts
35|What is the purpose of tap changing in power Maintain primary Change voltage ratio | Maintain secondary | Load the transformer |TersTell ST & T TT9T b1 32T FATE? | TrUTHAeh dlecst 2R faeRoT # dreest g dleest R | 38 g&Td & fov Transformer - 45 - 47
transformers? voltage constant in distribution voltage constant  |for maximum efficiency AT 3G e UTd Feel ATT TGAT TAHER 5 Parts
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